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Political Parties, Campaigns, and Elections


In a democracy, citizens are expected to perform important tasks.  At a minimum, citizens are suppose to become informed about political issues and cast a well-reasoned vote in elections.  However, the costs of becoming “informed” can be high for many citizens.  For example, how many different articles would one need to read on health care before having a well-reasoned position on the topic?  Furthermore, how could citizens be expected to obtain this amount on the wide variety of issues the political system must confront?  Political parties play a crucial role in this process.  If political parties perform as they should, they will recruit candidates to run for office, take opposing sides on many important political issues and provide voters with a relatively coherent set of issue positions that are accurately predictive of what policy changes would occur if they take power.  Thus, political parties can substantially reduce the “information costs” voters face. How well American political parties perform this critically important function is one of the central questions this course attempts to answer.  

This course also examines the electoral process through the eyes and ears of voters.  Thus, how do voters respond to the choices the political parties offer?  How much information do voters have regarding the choices they make?  How do voters process the information they have?  How much impact do campaigns actually have on the final vote?  These are some of the questions Political Parties, Campaigns, and Elections will attempt to answer.   We will approach these questions in an interdisciplinary manner.  In addition to political science, the course makes ample use of concepts from economics, psychology and sociology. 

Your grade will be based upon three equally weighted factors: your cumulative score on a series of unannounced quizzes (less your three lowest quiz scores), your total points on the term paper, and a comprehensive final examination.  Missed quizzes are automatically dropped.  Thus, in order to be eligible for a make-up quiz, you would have to miss four quizzes (i.e., one more than the number dropped) and have a valid excuse for the fourth missed quiz.  Furthermore, in order to take a make-up quiz, you must notify me within one week after the quiz was given in class.  Examinations and quizzes will contain both essay and objective questions.  Any term paper turned in after the end of the class period on the date due will be lowered 10 points per day late.  Just so there is not a misunderstanding, term papers turned in later than the class period on the date due are considered one day late.  Excuses such as you forgot to bring the term paper to school or that your computer malfunctioned are not accepted.  Do not e-mail the term paper.  If you give your term paper to someone else to turn in, you bear the responsibility.


I use a relative grading method.  Thus, your grade is determined by how well you score relative to other students.  For example, six out of ten points on a quiz is an excellent score if everyone else scores lower, but a poor score if everyone else scores higher.  The final grades in the course are geared to the average grade distribution for upper division political science courses (approximately 2.7 on a 4.0 scale).


The number and importance of the unannounced quizzes means that to be successful you need to both read the assignment by the date due and regularly attend class.  If you use your dropped quizzes to cover missed quizzes, this will likely force you to count quizzes you took, but scored low on.  As you will probably average one, or more quizzes per week, attendance and preparation are critical.


As I mentioned at the top of the syllabus, I encourage you to call me at home with your questions.  I will never make you feel foolish for having asked a question.  As one who has asked a seemingly infinite number of “foolish” questions, I under stand one’s reluctance to admit ignorance.  Furthermore, do not avoid calling me because you feel so confused you would not know what to ask.  Just call me at home and I can help you.  However, I can only help you if you give me the opportunity.  The best times to call are listed at the top of the previous page.

The required texts for the course are:

(1) Party Politics in America, 14th edition, by Marjorie Randon Hershey 

(hereafter “Hershey”);

(2) Winner-Take-All Politics by Jacob S. Hacker and Paul Pierson (hearafter 

“HP”)
Assignments

Please Note: Always bring the assigned book to class.  Additionally, always keep up with the dates below.  Even if class is cancelled, we will make the dates below.

Assignment 1 – Hershey, pp. 1-44 due read by 1/30
READ THE FOLLOWING CLOSELY: Throughout the semester two recurring themes of critical importance to the operation of our democracy will be stressed: (1) How representative of public opinion are the policies and actions of government?; and (2)  How fair are the policies and actions of government?  Numerous presentations in class, as well as both quiz and final exam questions, will highlight these two themes.  As you answer the potential quiz questions below, think of these themes.  For example, one of the questions below asks you about proportional representation.  I could easily ask you on a quiz something such as: How could one argue that a proportional representation system produces a more representative legislature than a winner-take-all system?  Or, how might one argue that a proportional representation system would produce policies that are more “fair” than a winner-take-all system? The questions ahead are aimed at how the textbook presents material.  Thus, you can answer these questions directly from the book.  As you answer the questions from the book think of how this information might be used to examine both the degree of representation and fairness in the American political system.  The quiz questions will come from three sources: (1) questions that appear in the coursepack; (2) knowledge from the coursepack questions applied to representation and fairness; and (3) questions from the past two lectures.
Potential quiz questions include:  Do most democracies use primary elections to nominate the parties’ candidates for office?  What are the three interacting parts of the major American political parties? Which is more inclusive, interest groups or the major political parties?  Of these three functions, which one do American political parties most emphasize?  How do parties help people make sense of politics? What is meant by the following statement: “… the American parties help aggregate and organize political power.”  How do political parties offset a very fragmented American political structure? How do political parties differ from interest groups? Were the first American political parties developed by voters? What is the similarity between the Whig party and the Republican party? 
What was the impact of the Progressive era reforms on political parties? According to Hershey, by comparison to earlier time periods, how clear are the policy differences of the major parties today? In terms of policy, how do the Democratic and Republican parties differ? What groups are the core supporters of the Republican party?  What groups are the core supporters of the Democratic party?  How does the separation of powers effect political parties?  What has been the impact of the media on political parties? How close has the competition between the major parties typically been?  Relative to other states, how competitive are the two major parties in California?  Why is proportional representation typically associated with a multiparty political system?  According to “social consensus theory,” why does America have a two-party system? Which party fares better under a nonpartisan election system?  Why?  What is the impact of having a nonpartisan legislature on the electorate’s ability to predict legislative behavior?  According to Hershey, how likely is it that the two-party system will continue?  
Assignment 2 – Hershey, pp. 45-98 due read by 2/6
Remember the discussion under Assignment 1 concerning the themes of representation and fairness for quiz/exam questions as you read this week’s readings.
Potential quiz questions include: Compared to most Western democracies, how strong are the organizations of the two major American political parties?  How does Hershey define a “strong party organization”?  Why does the United States greatly regulate political party organizations?  What distinguished the classic urban political machine from a mass-membership party?  What caused the decline of urban political machines?  Traditionally, why have state party organizations been relatively weak? What is the relationship between state party organizational strength and use of the direct primary? What has invigorated state parties?  Why does Hershey think that state and local party organizations have less impact on politics today than previously? Historically, why have national political party organizations been relatively weak?   Why did the Democratic National Committee pursue a “procedural-reform,” as opposed to a “service” path, in the 1970s? Why did the Democrats shift to a more “service” path orientation? With the exception of 2008, has the increased impact of the national party committees been more widely dispersed over many campaigns or more narrowly concentrated on a few states and districts? Does Hershey believe that American political party organizations have become as strong as those in most Western democracies? According to Hershey, what are the benefits of patronage?  Do issue-based activists really believe that their campaign activities actually influence voters?  Among those initially attracted to work for political party for purposive reasons, what other goal typically becomes more important over the long-term?  In terms of goals, what is the difference between “amateurs” and “professionals”? On average, do professionals or amateurs have higher socioeconomic status (i.e., income, education and occupational status or SES)? What is the relationship between a person’s socioeconomic status and the likelihood that they will become a political activist?  How does the relationship between socioeconomic status and the likelihood of becoming a political activist found in the United States compare with other democracies?  How does the relationship between socioeconomic status and political participation affect representation? (not necessarily an answer in the book – you need to think about it yourself) How does it affect fairness? (not necessarily an answer in the book – you need to think about it yourself)  Which parties’ activists are more extreme relative to the average voter?  

Assignment 3 – Hershey, pp. 99-157 due read by 2/13
Remember the discussion under Assignment 1 concerning the themes of representation and fairness for quiz/exam questions as you read this week’s readings.
Potential quiz questions include:  Demographically, what are the fastest growing groups in the electorate?  Which party is more likely to do better among the two groups you identified in answering the last question?  How did the impact of party identification on voting in the late 1990s-2008 period compare with the early 1950s?  What does the “running tally” view of party identification mean? What is the relationship between an individual’s strength of partisan attachment and their level of political participation? How do “pure” independents compare with partisans in terms of political information and political participation? What is the weakness of candidate-centered politics? What is a “realigning” election? How “class-based” were the first and second party systems?  Has socioeconomic status been a major source of division in each of the five political party systems?  How is the role of socioeconomic status different today than in the fifth, or New Deal, party system?  Compared to many other Western democracies, how strong is the relationship between socioeconomic status and party loyalty in the United States? Today, the greatest difference in voting preferences and religion is between what two groups?  How large is the difference between Democratic and Republican partisans on welfare state issues?  If the Republican have won the bulk of the Presidential elections over the 1968-2008 period why not conclude that there has been a pro-Republican realignment?  What was the basic trend in voter turnout between 1850 and the 1990s?  How do voter registration requirements in most European democracies compare with the United States?  Would representation in the U.S. be greater if we used voter registration requirements similar to most European democracies? (not necessarily an answer in the book – you need to think about it yourself) Since most minority voters vote Democratic, why did the Republican Party favor the creation of majority-minority districts? What is the biggest socioeconomic difference between voters and nonvoters?  If Americans are becoming more well-educated, why is voter turnout declining?  In terms of getting someone to turnout to vote, how do personal appeals compare with either mail or phone appeals?  What factor is the greatest difference between voters and nonvoters?   According to the “conventional wisdom” which party desires low voter turnout?  How does voter turnout in the U.S. compare to most other democracies? In terms of policy, which socioeconomic group(s) lose through lower turnout? 
Assignment 4 – Hershey, pp. 159-215 due read by 2/20
Remember the discussion under Assignment 1 concerning the themes of representation and fairness for quiz/exam questions as you read this week’s readings.
Potential quiz questions include: What was the direct primary a reaction against?   What is the reasoning behind a closed primary? According to the results from the Wisconsin study, how prevalent is “cross over” voting in open primaries?  Why might primaries often produce ideologically extreme nominees?  How can primaries reduce party accountability?  What two issues prompted the Democratic Party to change it’s method of president delegate selection?   In essence, how did the Democrats change the presidential delegate selection process? What presidential delegate selection reforms undertaken by the Democratic Party have not been utilized by the Republican Party?  What is the most important factor affecting a presidential candidate’s strategy?  What are the drawbacks to “front-loading” primaries? On issues positions, how much difference is their between primary voters and partisans of the same party?  How does Hershey evaluate the argument that primary voters are irrational? How accurately do party platforms reveal the differences between the two major political parties?  In terms of educational attainment and income, how do convention delegates compare to the typical voter?  In terms of ideology and issues, how do convention delegates compare to both the average voter and the typical member of their party?  Typically, what is most campaign money spent on?   Relative to the broadcast media, what is the attraction of the “ground war”?  Are direct mail appeals likely to be “cooler” or “hotter” than television appeals?  Why?  How accurate are models that forecast the incumbent’s share of the vote based upon pre-campaign information (e.g., state of the economy, etc.)?  What does Hershey conclude concerning the effectiveness of campaigns? What is the impact of candidate centered campaigns on how voters view candidates and parties? What is the difference between the goals of a candidate and their party?  How does the candidate/party relationship impact representation? (not necessarily an answer in the book – you need to think about it yourself) How does the candidate/party relationship impact the fairness of public policy? (not necessarily an answer in the book – you need to think about it yourself) 

Assignment 5 – Hershey, pp. 216-269 due read by 2/27
Remember the discussion under Assignment 1 concerning the themes of representation and fairness for quiz/exam questions as you read this week’s readings.
Potential quiz questions include: What is the impact of party polarization on the level of campaign spending?  In congressional campaigns, how does incumbent spending compare to challenger spending? Concerning the impact of money on congressional elections, on what three points does there seem to be a consensus?  What appears to be the influence of political action committee contributions on legislator’s votes? What was the significance of Buckley v. Valeo? Why is individual or group campaign spending that is not coordinated with a candidate’s campaign unregulated?  What is the danger in “independent” campaign spending (i.e., spending not coordinated with a candidate)? Would it be accurate to say that the “527” groups raised the bulk of their money from small contributors (e.g., $100 or less)? In terms of reducing the influence of “interested money,” how effective have campaign finance reforms been? How does campaign finance in Great Britain differ from the U.S.?  What is the major reason American political parties do not achieve the degree of unity that some foreign parties do? What factors are working in favor of greater party unity in the United States? How does the degree of party unity affect representation? (not necessarily an answer in the book – you need to think about it yourself)  In terms of party unity, how does Congress compare with the British House of Commons?  Over the past 30 years, what has been the general trend in party unity scores?  What has brought about the changed level of party unity in Congress? I want you to be able to read tables. Don’t be surprised if a quiz contains a question asking you to interpret a table.  With this in mind, how would you interpret the score of “77” on the top of page 259 (i.e., above the 1990-99 column)? Typically, is the difference between the two major parties in Congress greater on issues such as foreign policy and civil liberties (e.g., free speech) or on issues such as social welfare government management of the economy?  At the level of the individual legislator, what is the relationship between the marginality of the district and the degree of support the legislator gives to his party in the legislature? At the level of the legislature as a whole, what is the relationship between party competition and party voting?  What is the relationship between legislative professionalism and a legislator’s reliance on party leaders? 
Note: Assignment 6 (the first portion of the term paper) will soon be due.  It might be useful to begin working it!
Assignment 6 – due 3/5 - Assignment 6 is worth 30 points.  Late Assignment lose substantial points.  Just so there isn’t confusion, make SURE you bring EVERYTHING mentioned on pages 12- 13 with you to class the day this assignment is due.
As the readings and class discussions have indicated, political parties frequently pursue different groups of voters and use different strategies on economic issues than they do on noneconomic issues.  Thus, we can get a more complete sense of political parties by examining their behavior on both economic and noneconomic issues.  Assignment 6 is the first step in this process.  Assignment 6 is to pick two political issues (one economic and one noneconomic) that have been in the news over the past decade and find political information about them (from the sources mentioned ahead).  For reasons which will be clear later, do not select any of the following issues: the estate tax, free trade (e.g., NAFTA or CAFTA), gay issues (e.g., the Defense of Marriage Act, the Federal Marriage Amendment, gays in the military, AIDS funding, domestic partners legislation, etc.) or immigration (e.g., immigration reform, guest worker programs, bilingual education, etc).  
By “in the news,” I mean have been written about extensively in The New York Times (www.nytimes.com), The Washington Post (www.washingtonpost.com) and The Los Angeles Times (www.latimes.com) newspapers and which the two political parties (or leaders of the parties) have either taken positions or suggested what the balance of opinion in their party is likely to be.  In addition to the three previously mentioned newspapers, information on party issue stances can be found at each parties’ website (www.gop.com and www.democrats.org).  For the economic issue you select I want you to bring pages from any of the following policy websites: Center for Budget and Policy Priorities (www.cbpp.org), Center for American Progress (www.americanprogress.org), Economic Policy Institute (www.epi.org), Urban Institute (www.urban.org), Citizens for Tax Justice (www.ctj.org) and American Enterprise Institute (www.aei.org). 

Congressional action, and the debate surrounding it, may give you a good idea of how the issue is handled by the elected parts of the “party in the government.” Therefore, at least one of your issues must have a corresponding vote in Congress.  Since conflict makes politics more interesting, pick a vote where at least 20% of those voting voted on the losing side.  It does not matter whether the legislation was passed or defeated. Later in this discussion, I will show you how to use the Congressional Record, a definitive source for the U.S. Congress.  Congressional politics can give a good perspective both on how your issue “plays out” in both the party in the government as well as the party in the electorate.  The congressional debate often provides important insight into party political strategy.  Additionally, since the president is the most visible leader of their party, presidential statements and policy initiatives provide a good opportunity ascertain the behavior of the “party in the government.”  The newspapers mentioned above have many useful stories concerning presidential politics and policy. 

Additionally, Supreme Court cases may highlight action by the party in the government.  To help you assess the impact of partisanship on Supreme Court decisions, let me mention that all current members of the Supreme Court except Stephen Breyer, Ruth Bader Ginsburg and Sonia Sotomayor were appointed by Republican presidents.   

Interest groups and financial backers can also shed important light on how both the party in the electorate and the party in the government handle particular issues.  Try to find a linkage between financial contributors, interest groups and the political parties (see www.opensecrets.org).  Which interest groups and financial backers is each party aligned with on each issue?  Among both elite supporters (e.g., interest groups and financial backers) and the electorate, does each party seem to be catering to the same groups on both issues?  If not, what are the differences?  Are the parties catering to the same elite and mass groups that Hershey and class lectures would suggest?  If not, why?

Columnists are often good sources of both political strategy and policy.  The columnists I want you to use are Paul Krugman (usually Monday and Friday at www.nytimes.com), David Brooks (usually Tuesday and Friday at www.nytimes.com), E.J. Dionne (usually Tuesday and Friday at www.washingtonpost.com), David Broder (typically Wednesday at www.washingtonpost.com), and Tom Friedman (usually Wednesday and Sunday at www.nytimes.com).  While I realize many of you may prefer other sources (e.g., Rush Limbaugh, Bill O’Reilly, Bill Maher, etc.), in terms of this paper, I want you to use only the sources I have mentioned.  What people find entertaining is not necessarily very informative or very accurate.  While few, if any, of the previously mentioned columnist may have written on the exact Congressional vote you use, some of them will have written on similar topics.  For example, while Paul Krugman man not have written on a particular energy vote, he has written many columns on energy policy options and how the two major political parties differ on energy issues.   This would be very useful for a paper, in part, dealing with an energy or global warming issue. To read past articles in the previously mentioned newspapers do the following: (a) Go to www.csulb.edu/library; (b) Under “Research Support” look beneath “Find Articles” and locate and click on “databases by topic”; (c) click on “Newspapers”; (d) Click on “Newspapers” again (do not click on “Historical New York or Los Angeles Times” – you may need more recent material – if you are at home you may need to enter your campus id. and password); (e) click on the “Publications” tab on the top of the page; (f) click on “N” for The New York Times, “W” for the Washington Post and “L” for The Los Angeles Times. You may be able to access material up to 20 years old directly from the New York Times website (www.nytimes.com).        

What I need to see on the day this assignment is due is that the paper is “doable.”  That means that not only have you selected one economic and one noneconomic issue, but that you have sufficient information from the sources mentioned above to write an interesting paper.  Again, on the economic issue, you need information on the probable economic impact of your issue either from DeLong’s website (see above) or the Center for Budget and Policy Priorities website (see above). Remember that at least one of your issues must have been voted on by at least one chamber of Congress and at least 20% of those voting must have voted on the losing side. If you cannot find enough information on either issue from the sources I’ve mentioned you need to select other issues.  Since you may have to research more issues than the two you ultimately use, you need to start well in advance of the deadline.  This portion of the paper assignment is worth 20 points.  All assignments pertaining to the paper are to be entirely your own work.  Thus, no “group projects.”

The following information will allow to access the Congressional Record: (1) Go to www.thomas.gov; (2) Look in the lower middle of the page and click on “Roll Call Votes”; (3) Look under “Senate” (which is lower on the page than “House” – the Senate has more amendments and debate than the House of Representatives and is a more desirable source); (4) Pick any year from 1989 forward and click on either “1st Session” or “2nd Session”; (5) Look under “Description” on the right side of the page and see what interests you.  As I mentioned above, amendments are usually more interesting, and conflictual, than votes for final passage; (6) Click on the appropriate red numbered item in the “Vote” column and look for either “Statement of Purpose” or “Measure Title” in the middle of the page (this will explain what the vote was on and show the voting split - i.e., how many senators voted “yes” and how many voted “no” – you can also learn more about your vote by clicking on the red items immediately above the “Statement of Purpose” or “Measure Title” – e.g., “Amendment Number” or “Measure Number” and following the ensuing links).  Remember that at least 20% of those voting must have voted on the losing side.  It does not matter whether the legislation passed or was defeated.  Now scroll down to “Grouped By Vote Position” (this will list which senators voted “yes” and which voted “no” -  you should print this material because to do the term paper you will need to calculate the percentage of Democratic senators who voted “yes,” the percentage of Democratic senators who voted “no,” the percentage of Republican senators who voted “yes” and the percentage of Republican senators who voted “no”); (7) Assuming that you have found a Senate vote that relates to one of the issues you want to use in your paper and at least 20% of those voting voted on the losing side, it would be helpful to find out whether the vote has the amount of discussion, both in Congress and major newspapers, to be a vote/issue on which you can base your term paper.  In the example ahead, I am going to use a vote on the Estate Tax to demonstrate how to proceed.  Obviously, you can not use the Estate Tax as one of the two issues in your paper; (8) I went to www.thomas.gov, clicked on “Roll Call Votes,” under “Senate” I clicked on 109th (second session), I clicked on “00164” (Senate vote on invoking cloture – i.e., to cutoff debate on House Resolution 8 - hence “H.R.” – scrolled down to “Grouped By Vote Position” in order both to find whether at least 20% voted on the losing side and to show the “yeas” and “nays” by party affiliation of the senator – so I could perform all the necessary calculations – e.g., percentage of Democratic senators who voted “yes,” etc. – see above discussion).  A vote to limit debate is typically a vote on the legislation itself.  Those favoring the legislation will want to curtail debate so the legislation itself can be voted on.  If they fail, debate does not end and the issue is not voted on.  If the legislation is not voted on, it cannot become law.  That is why senators’ positions on cloture votes are very similar to their votes on the legislation itself.  Part of the reason to break the vote down by party is to analyze why some senators deviate from their party.  To obtain the Senate debate on the repeal of the estate tax I: (9) went back to www.thomas.gov, clicked on “Congressional Record,” clicked on 109th (i.e., the 109th Congress), under “Enter Search” I entered “Death Tax” (you may need to try a number of different phrases – for example, I could have tried “Estate Tax” or “taxation”), selected “Include Variants,” left only “Senate” and “Extension of Remarks” checked (i.e., I “unchecked” “House” and “Daily Digest”), clicked on “Sort by Date” and, finally, clicked on “Search.”; (10) clicked on “Senate – June 08, 2006” (in blue) which is to the right of item #29, “Death Tax Permanency Act of 2005- Motion to Proceed.” Notice the page numbers in blue on the left side of the screen.  You may notice several dates that correspond to your topic.  For example, June 6, 7 and 8 all had listings for the Death Tax.  However, June 8th was by far the most useful. I clicked on the top page number and then on “GPO’s PDF” (in the upper middle of the screen).   This produced an actual page of debate in the Congressional Record.  I saved this page to a floppy disk.  (If you are doing this at home, you may need to download Adobe Acrobat to your computer.  If you go to www.adobe.com you can download the Adobe Reader - which is what you will need - for free.)  Continuing with the Congressional Record, notice at the bottom of the screen it may say “Next Page.”  If so, click on the “Next Page” option and see if the debate on your topic continues.  If so, save those pages as well.  I would then follow this process for all the pages in blue that appeared when I executed step #10.  The pages of debate can be very useful for your paper.  They allow you to see how elected politicians “frame” the issue and argue their point of view.  Such debate can also provide valuable clues as to how the party is trying to appeal to various groups in the electorate.  

On the date this assignment is due you need to bring all the material you will use in the term paper to class (either printed copies or material downloaded to your laptop computer which you bring to class).  This includes the following: (1) pages from the debate on your issue as they appear in the Congressional Record; (2) the vote by party from the Congressional Record; (3) the various newspapers (those newspapers mentioned previously, columnists (those mentioned previously), political party websites, and the Center for Budget and Policy Priorities. etc.).
Assignment 7 – Coursepack, pages 15-55 (i.e., those pages immediately following the questions for Assignment 7) are due read by 3/12
Potential Quiz Questions Include:  Relative to the nations we discussed, what is the degree of income inequality in the United States?  During the 1970-2009 period, did income inequality in the United States increase or decrease?  What is the likely impact of former President Bush’s tax cuts on income inequality? Who has a higher standard of living, the very poor in the United States or in Sweden? Relative to the other nations we examined, how much effort does the United States make to reduce income inequality?  Over the nations we examined, what is the relationship between tax rates and economic growth?  How are different income groups affected by unemployment and inflation? How do the political parties differ on handling unemployment and inflation? How do they differ stimulating the economy?  Why?  How good a mechanism are the Bush Tax Cuts for reducing unemployment?  Why is the argument that the rich pay such a high percentage of the income tax misleading?  Why doesn’t a free market provide important social goods?  Why do government run social insurance systems cost less than private market social insurance systems? What is the relationship between your parent’s income and your future income?  What is the “Debilitating Cycle”?  What is the philosophy behind “The Ownership Society” and the “Roadmap for America’s Future”?  How could you argue that a bigger government increases freedom?  How is Social Security different from a 401k plan?  If Social Security is privatized, how would that affect its ability to guarantee income?  If Social Security is “means-tested,” how would that affect the future political support of the program?  How could you argue that a bigger government decreases freedom?  How could you argue that a bigger government increases fairness?  I’m not going to “tell you the answer” to these last three questions. Think through the course materials and formulate your own answer.   How could increases in various California taxes actually help the business climate?  Roughly, how much of California’s budget deficit could be closed by tax increases that have little, or no, negative affect on business?  How does the progressivity of state taxes in California compare to the federal tax system?  Does the State of California suffer from “runaway” state spending? How does the relative size of the workforce of the State of California compare to other states?   What political changes over the past 40 years have reduced the likelihood of the government adopting policies that more benefit low and middle-income households?  What possible policy changes might undo the changes of the past 40 years?  Is the difference in the poverty rates of wealthy democracies more caused by the differences in the attributes of their people (e.g., single-mother households, education, etc.) or more caused by the difference in government policies?  How would the wage subsidy plan work?  In addition to the wage subsidy plan, what other policies are discussed that would improve the fortunes of low and middle-income Americans?  How could it be argued that allowing the Bush Tax Cuts to expire and adopting the “Wealth Tax” are very fair means of paying for the programs that would help low and middle-income Americans?   How could the average American benefit if their taxes increased but the U.S. adopted a Canadian or European style health care system? Why is the government budget likely to be too small in a democracy?
Political Parties, Income Inequality and Public Policy

One of the most important issues facing our nation is the dramatic increase in income inequality over the past 40 years.  While the share of income going to the richest 1% of American households has over doubled in the past 40 years, the share of income going to much poorer groups has declined sharply.   This raises a number of important questions.  Should government policy attempt to reduce income inequality?  If so, by how much?  How should our nation respond to a reduction in the relative size of the middle class, and reductions in social protections that private employment use to more fully provide (e.g., health care and pensions)?  Given the reliance of elected government officials on campaign contributions, to what extent is increased income inequality causing public policy to favor the wealthy over other income groups?  The purpose of this reading assignment is to: (1) examine the incentives of our two political parties in formulating policies dealing with these topics; (2) survey the level of income inequality and how it has changed over time; and (3) explore various possible public policies, and the costs and benefits they would provide both for our nation as a whole and for California. 

Incentives of the Two Major Political Parties

A major theme of this course is that the two major political parties provide voters very clear policy choices.   Many times I’ve mentioned that the voter who votes “the candidate” and not “the party” will often make a mistake.  A candidate’s party affiliation tells you a lot of what is politically important about them.  A related theme is that the reason the parties provide a clear and predictable “choice” is that,  economically, they represent very different groups of voters.    Lower-income voters are a much more important part of the Democratic Party coalition than of the Republican Party coalition.  By contrast, higher-income groups, especially business, are a much more important part of the Republican Party coalition than the Democratic Party coalition.  Nowhere is this difference more clear, or important, than on two economic issues that noticeably impact the degree of income inequality and are frequently at the center of political campaigns: unemployment and inflation.  Will we start by examining how unemployment and inflation affect income inequality.  It then makes sense to see what incentives each of the major political parties has to supply various unemployment and inflation levels.  

Unemployment has a large impact which disproportionately falls on low and middle-income voters.  Each additional percentage point in unemployment yields a decline of about a tenth of a percentage point in the share of income going to the poorest and next poorest 20% of American households.  For example, if the share of income going to the poorest 20% of American households was 4.0% (i.e., the poorest 20% of American households received only 4% of the income of all U.S. households combined), a one percentage point increase in unemployment would lower this share to 3.9% (Douglas A. Hibbs, The American Political Economy, Harvard University Press, p. 80 - the seminal work in this important field).  As unemployment compensation replaces only 22% to 37% of lost income (depending upon what state the unemployed person resides in), unemployment has very important consequences, especially for the poor (Hibbs, p. 58).  

The nonmonetary cost of unemployment is also quite high.  A sustained one percentage point increase in the unemployment rate ultimately produces 30,000  extra fatalities per year  (through increased crime, loss of health benefits, alcoholism, suicide, etc.- Hibbs, p. 50).  To put this in perspective, it is worth noting that over a 9 year period the United States lost just under 60,000 military personnel  in the Vietnam War.                             


Like unemployment, inflation also affects income groups differently. However, the costs of inflation fall much more on higher income groups than do the costs of unemployment.  Due to appreciating home values and indexed government benefits (e.g., Social Security payments are increased to offset the affect of inflation), the poorest 80% of American households are relatively unaffected by inflation.   However, inflation has a much greater adverse impact on the richest 20% of American households.  This is because the sources of income that makeup a greater percentage of the income of low and middle-income households, wages and salaries, are less affected by inflation than are income sources that flow almost exclusively to higher-income households (interest bearing securities, stocks, bonds, etc. – Hibbs, pp. 88-89). 


Any political party will need to better serve the interests of it’s supporters than the opposition party.  Otherwise, those voters are likely to vote for the opposition party.  As you’ll soon see, Democratic and Republican voters place different values on unemployment and inflation.  This is particularly important because unemployment and inflation typically involve “tradeoffs” (just keep reading – it will “make sense”).   Often policies which reduce unemployment increase inflation.   Thus, there is frequently a tradeoff between unemployment and inflation (i.e., what is better for one goal is worse for the other goal).  

The  Blinder Rule provides a relationship between unemployment and inflation that government can utilize in order to reduce either unemployment or inflation in the short-run (typically thought to be two years or less).  The Blinder Rule states that a 1 percentage point increase in unemployment above the natural rate of unemployment (whatever level of unemployment is necessary to keep inflation the same – i.e., not either increasing or decrasing - today about 4%) endured for a year lowers the core or underlying inflation rate (excludes food, shelter and energy) ½ of 1 percent (i.e., .5%).  

A useful concept in understanding the “politics” of unemployment and inflation is the marginal substitution rate:  the number of percentage points that unemployment would have to decrease if inflation increased by one percentage point for the President's support within the group to remain the same (just keep reading – it will make sense after an example).  Political scientists have found that the marginal substitution rates of voters are, roughly, as follows:  

 Democrats      Independents    Republicans         

         

  
       .90                       2.0                     1.5

The above can be interpreted as follows: if 80% of Democrats support President Obama and inflation increases 1 percentage point (which hurts Obama – voters don’t like inflation) and unemployment decreases .9 of a percentage point (which helps Obama – voters prefer lower unemployment) Obama's popularity among Democrats would remain at 80% (i.e., unchanged).  

Democratic voters are less averse to inflation than either Independents or Republicans. This is because it takes less of a reduction in unemployment to satisfy Democrats for a one percent increase in inflation than for either Republicans or Independents (i.e., .9 is less than either 1.5 or 2.0). Thus, as Democratic Presidents are more strongly supported by the poor (who are more adversely affected by unemployment), wouldn't one expect that Democratic Administrations would produce lower unemployment and higher inflation than Republican Administrations?  Yes!  That’s also what happens in the “real world.”  

Voter aversion to unemployment and inflation was behind the “politics” of the Obama Stimulus Plan.  The Democrats were willing to run a larger federal deficit in order to more stimulate the economy and reduce unemployment than were the Republicans.  This was, in large part, because the Democratic voter base is poorer, and more affected by unemployment than the Republican voter base.   That’s also the difference in health care: the Democrats are more willing to reduce the Bush Tax Cuts (that predominately favor higher-income households) and apply this money to reducing the number of Americans without medical insurance.  Democrats are poorer, and less likely to have medical insurance than Republicans.                        


Political scientists have long studied these questions.  The following summarizes what we have found:   after four years Democratic Administrations produce unemployment rates approximately 2% lower and inflation rates approximately 4% higher than Republican Administrations (Hibbs, pp. 248-254) .  

If you go back through American political and economic history, you’ll see similar partisan differences toward unemployment and inflation.  Typically, policies that produce greater relative economic stimulation and, hence, lower unemployment rates, but risk higher inflation (e.g., printing more money, lowering interest rates, running larger government deficits), have been more strongly supported by the Democratic Party because such policies more benefit middle and low-income households.  The Republican Party, more sensitive to the economic interest of the wealthy (hence to reducing inflation), have typically been either less supportive, or opposed, to highly economically stimulative policies.  
Additional insight can be gained if we examine relative living standards.  We can estimate your standard of living by taking your income, adding the value of government benefits you receive (e.g., food stamps) and subtracting taxes.  This concept is called “net income.”  The ratio of “net” income (money income plus the value of government programs minus taxes) of the richest 20% of American households to the poorest 40% of households is typically over 2.0 (i.e., the richest 20% of the households have over twice as much “net” income as the entire poorest 40%).  The richest 20% of households have over 3.5 times as much money income as the poorest 40% of households.  The difference is that “net” income subtracts out taxes and includes the value of many government programs.  Thus, government reduces income inequality.  This is one important reason why liberals like government more than conservatives.  Political scientists have found that the ratio of net income of the richest 20% of American households to the income of the poorest 40% of American households is lower under Democratic than Republican Administrations (Hibbs, pp. 232-242).  Thus, the poor get more in relation to the rich under the Democrats.  

Recent research by political scientists shows that all income groups up through the 95th percentile (i.e., all but the richest 5% of households – today those earning about $200,000, or less, per year) gain under the Democrats relative to the Republicans.  However, the poor gain at greater rate under the Democrats (Larry Bartels, Unequal Democracy, Princeton University Press).  Thus, while the rich gain under the Democrats, income inequality is lower under the Democrats.   

Our Current Situation

Currently, the United States is in the worst recession since the Great Depression of the 1930s.   The root cause of our current recession is that lax regulation of banks and lending institutions permitted more home loans than the income of the borrowers could sustain.  This occurred in a number of nations besides the United States (e.g., Ireland, Spain, etc.).  Increased lending increased the demand for housing, which further increased housing prices.  As housing prices increased, people borrowed more money against what they thought was their increased wealth.  Many people reasoned that since their house was worth more, their wealth was greater and they could immediately enjoy their increased wealth by borrowing money against the value of their home.   

In 1990, the average American household’s debt was equal to 83% of it’s income.  By 2007, average household debt had increased to 130% of income.  Eventually, the imbalance between what home owners, and those desiring to own homes, could afford materialized and fewer people could make the payments on the homes they had purchased or borrow against the equity they had in their current home.  As home loans dwindled, a significant source of consumer spending was lost.  Today, household debt has been reduced to approximately 118% of household income.  However, the reduction in consumer spending meant that businesses would need fewer employees.  All of these factors reduced consumer demand, which, in turn, greatly increased unemployment.   

So, what should the federal government’s response be?  The “short answer” is that the government needs to replace the spending that consumers have cutback.  If the government doesn’t provide this spending/stimulus, who will?  This means large federal deficits.  Large deficits are what ended the Great Depression.  A very plausible estimate of the relationship between stimulus and unemployment is as follows:  300 billion dollars of stimulus will reduce the unemployment rate by 1%.   The Obama Stimulus Plan was approximately 775 billion dollars spread over two years.   Given the composition of the Obama Stimulus Plan (e.g., tax cuts – which have low stimulative value) it is equivalent to about 510 billion dollars of stimulus rather than 775 billion dollars.  This means that, due to the Obama Stimulus Plan, the unemployment rate, while high, is about 1.7 percentage points lower that it would have been without the plan (510/300 = 1.7 -  see Paul Krugman, “Stimulus Arithmetic,” New York Times, January 6, 2009).  In order to fully offset the decline in consumer spending and reduce unemployment back to it’s pre-recession level of  5.8% would require a stimulus package at least three times the size of the Obama Stimulus Plan and spread over more than two years.   To make hiring feasible, businesses need to know that government support will last long enough to keep demand high enough to make hiring economically viable.  It’s not that the Obama Stimulus Plan “doesn’t work,” it’s simply too small given the size of the problem.

Many economists think that the federal government needs to do two things to improve the economy: (1) provide a larger stimulus than the Obama Stimulus Plan; and (2) more strongly regulate the financial markets (to avoid the bad loans that precipitated our current problems).  This is difficult for the Republican Party: their ideology conceives of government as “the problem,” not “the solution.” 

Income Inequality in the United States and Internationally


An important related topic to what we have been discussing is the degree of income inequality in the United States, as well as other nations, and how this is changing over time.  The following data will be of great value to us in this regard.  As the data below indicate, in 2009 the richest 5% of households in the United States received 20.7% of the income of all U.S. households combined.  This is over 4 times as much income as this group would have if income were distributed equally.  Thus, if income were distributed equally 5% of the households would receive 5% of the income, not 20.7%.

Income Inequality in the United States (1970-2009) and 

Other Wealthy Democracies (Mid-1980s)

                                                                             1970     1990     2009

                           Japan     U.K.     Sweden          U.S.      U.S.      U.S. 

     Richest    

     5%                                                                   15.6%  17.4%   20.7%      

     Richest 

     10%               22.4%     23.4%    28.1%

     Richest

     20%               37.5%    39.7%     41.7%          40.9%   44.3%  48.2%

     Next Richest 

     20%               23.1%    24.8%     21.0%          23.8%   23.8%  23.2%

     Middle

     20%               17.5%    17.0%     16.8%          17.6%   16.6%  15.3%

     Next Poorest

     20%               13.2%    11.5%     13.1%          12.2%   10.8%    9.4%

     Poorest

     20%                 8.7%     7.0%       7.4%             5.4%     4.6%    3.9%

Source: Berry, Bourguignon and Morrisson, pp. 62-63 in Lars Osberg, ed., Economic Inequality and Poverty and various tables from: http://www.census.gov/hhes/www/income/data/historical/inequality/index.html

When we examine high income categories (1970s-1980s) the U.S. appears as egalitarian as most other wealthy democracies.  However, the poor in the U.S. have a much smaller share of personal income than in other wealthy democracies.   Additionally, note how much greater share of income the richest 5% of U.S. households gained than other income groups over the 1970-2009 period (see the data immediately above).  
While the preceding percentage distributions of income are important, it can be more meaningful if we connect the distribution of income to actual dollar amounts of income.  For example, as the data immediately ahead show, if your household had an income of $180,000 in 2009, your household’s income was higher than approximately 95% of American households and lower than approximately 5% of American households.  

Connecting the Income Distribution to Actual Income in the U.S. - 2009

Minimum Income to be in the Richest 1/7th of 1% -           $1,100,000

Minimum Income to be in the Richest 1% of Households - $370,000

Minimum Income to be in the Richest 5% of Households - $180,001            


Income of the Household at the 80th Percentile                  - $100,000


Income of the Household at the 60th Percentile                  - $  61,801


Income of the Household at the 40th Percentile                  - $  38,550


Income of the Household at the 20th Percentile                  - $  20,453

(http://www.census.gov/hhes/www/income/histinc/h01ar.html - 




except for richest 1% and richest 1/7th of 1%)


The largest income gains of the last two decades have gone to the richest 1% of American households.  From 1993 to 2008, 52% of the increase in household income in the U.S. went to the richest 1% of the households (i.e., households earning over $370,000 in 2008). The following data shows the change in the share of income going to very high income groups.  For example, the “1/10th of 1%” column refers to the richest household out of a typical 1,000 households (i.e., 999 households out of 1,000 have a lower-income).  Additionally, over the 1980-2008 period, 98% of the income growth went to the richest 10% of income earners. 

(http://www.stateofworkingamerica.org/pages/interactive#/?start=1980&end=2008 – calculated by economist Emmanuel Saez http://www.econ.berkeley.edu/~saez/).
Return of the Gilded Age: Income Shares within the Richest 10%



Year              10%      1%         ½ of 1%               1/10th of 1%       

                                                                (richest 1 of 200)  (richest 1 of 1,000)                     

          

1920             39.0     14.8            11.1                          5.4                         

           
1940             45.3     16.5            12.3                          6.0          

           
1960             33.5     10.0              7.1                          3.3

           
1970             32.6       9.0              6.3                          2.8   

           
1980             34.6     10.0              7.2                          3.4 

           
1990             40.0     14.3            10.9                          5.8

           
2000             47.6     21.5            17.5                        10.9

          

2008             48.2     21.0            16.9                        10.4

(Emmanuel Saez-  http://elsa.berkeley.edu/~saez/ Income and Wealth Inequality, Updated to 2008, Table A3 includes capital gains and excludes gov.  transfers) 

If you include government transfers and subtract taxes from 1979 to 2006, the richest 1% of households had a 256% increase income while middle-income households (40th-60th percentiles) had a 21% increase and low-income households (1st-20th percentiles) only an 11% increase (Jacob Hacker and Paul Pierson, Winner-Take-All Politics, p. 23).

In the United States today, the richest 1% of households have over 1.5 times as much income as the entire poorest 40% of households combined ( e.g., in 2008 the richest 1% of the households received approximately 21% of the income – see page 16 - whereas the poorest 40% receive approximately 13.3% of the income – see page 15 for 2009: look at the poorest two quintiles and you’ll see they received 9.4% and 3.9% of the income – which equals 13.3% -  21%/13.3 = 1.57).  As Los Angeles Times columnist Tim Rutten noted, between 1992 and 2007 America’s 400 richest households increased their average income by 399%, while the poorest 90% of American households gained just 13% (Tim Rutten, LA Times, 2/24/10 using Emmanuel Saez and Thomas Piketty’s data - http://elsa.berkeley.edu/~saez/) .  

Notice how much greater the share of income going to the richest 1% is today than it was 20-40 years ago. This is much greater than other wealthy democracies are willing to tolerate.  For example, in 2008 the richest 1% of the households in the U.S. had approximately 21% of the total income of all U.S. households.  This is roughly twice as high a percentage as in Canada, Japan, Great Britain, the Netherlands, Sweden, Switzerland, France, Spain, Australia and New Zealand (Hacker and Pierson, Winner-Take-All Politics, page 39).  While there is some mobility (i.e., families moving in and out of either the richest 20% or the poorest 20%) only 3%-6% of U.S. households go from either the richest 20% to the poorest 20%, or vice versa, over a decade.  Thus, there is not much mobility.

In California, between 1987 and 2009, more than 33% of the income gains went to the richest 1% of Californians, and almost 75% went to the richest 10% while the bottom 90% received just over 25% of the growth in incomes. During the last two decades, the average income of the richest 1% of Californians increased by more than 50%, after adjusting for inflation, while the average income of the middle fifth (i.e., the 40th – 60th percentiles) decreased by 15%.  In 2009, the average income of the richest 1% of Californians was $1.2 million – more than 30 times that of Californians in the middle fifth. California’s income gap is wider than most other states. (LA Times, 11/23/11 page A17)

One could look at the preceding data showing what a small percentage of the income low-income Americans receive and still have this question: although high-income groups have a much greater share of the income than low-income groups, don’t the poor in the United States live at a higher standard than the poor in all other nations?  The short answer is “no.”  In the 1990s, despite the fact that the median American household (i.e., the middle household – half the households had higher incomes and half the households had lower incomes) had an income 22% higher than the median in Finland, the Netherlands or Italy, Americans in the poorest 10% had a living standard 22% below low-income Finns, 24% below low- income Dutch and 15% below low-income Italians.  However, the wealthiest 10% of Americans had incomes 50% higher than the wealthiest 10% in the other OECD nations (i.e., the democracies of Western Europe – Great Britain, France, etc., plus the U.S., Canada, Japan, Australia and New Zealand). (Smeeding, Challenge  Magazine, Sept./Oct., 1996, p. 49) 

One fundamental reason the poor in the U.S. have a lower standard of living than in several other nations is that, after taxes, the U.S. transfers only about one-third the percentage of income to the poorest 20% of households (1.5%) as does the average (4.2%) of the world’s wealthy democracies (i.e., the nations of Western Europe, Canada, Japan, etc. – Marco Mira d’Ercole, “Income Inequality in OECD Countries: How Does Japan Compare?,  Japanese Journal of Security Policy, Vol. 5, No. 1, June 2006, pp. 1-15, see page 9).  Additionally, labor unions, which are typically the strongest advocates for public policies that primarily benefit middle and low-income households, are much weaker in the U.S. than in Europe (Hacker and Pierson, Winner-Take-All Politics, pp. 56-61).


Sweden offers an interesting comparison to the United States.   The median Swedish family has a living standard roughly comparable with that of the median U.S. family: wages are, if anything, higher in Sweden, and a higher tax burden is offset by public provision of health care and generally better public services. As you move further down the income distribution, Swedish living standards are much higher than in the U.S.: at the 10th percentile (poorer than 90% of the population) the Swedish living standard is 60% higher than in the U.S.   The reason that income per person is higher in the United States than most other wealthy nations is that while low-income persons in the U.S. are poorer than some of their foreign counterparts the richest 1%-3% of U.S. households are much wealthier than their foreign counterparts.   

In this light it is worth noting that approximately 38% of the benefits from the Bush Tax Cuts go to the richest 1% of the households (i.e., the same households who have been receiving a much higher share of personal income over the past 40 years).  The richest 1% of U.S. households receive more money  from the Bush Tax Cuts than the entire poorest 70% of U.S. households combined (roughly households with annual incomes of about $90,000 or less).  Primary sources for the past several paragraphs are: “Year by Year Analysis of the Bush Tax Cut,” Citizens for Tax Justice, www.ctj.org, page 2 and “For Richer,” Paul Krugman, New York Times, October, 2002.


In terms of assessing the degree of economic inequality, income is only part of the picture.  We also need to examine wealth.  Wealth is a storehouse of assets: trusts, stocks, bonds, etc. whereas income is what you live on over a short period – say, a year.  As the following statistics will make clear: Wealth is  even  more unequally distributed than income. In the United States the wealthiest 1% of households have over 33% (2006-2007, 35%) of the national wealth while the poorest 50% of households have approximately 7% of the national wealth (sources: Lester Thurow, Generating Inequality, pp. 14-15; Los Angeles Times, September 17, 2000, p. M2, Article on Estate Tax; Los Angeles Times, Sept. 20, 2011, p. A11).


A very compelling case can be made that the previously mentioned income and wealth data actually understate the “true” level of inequality.  Here’s why: they do not take into account need, supplement sources of income and non-monetary bonuses (just keep reading).  For example, if your family has a remedial health care need (e.g., an autistic child) you have to spend some portion of your income to pay for this special need.  Poor families disproportionately have such needs.  Additionally, poor people do not have the same ability to borrow money from friends in the event of an emergency as wealthier people (i.e., the friends of the poor tend to also be poor and cannot as readily give, or loan, money to a poor friend in need). Furthermore, middle and upper-income groups get non-monetary bonuses much more frequently than the poor.  For example, if you’re flipping the Whoopers for Burger King, I’ll bet you didn’t go to work in a company car!  But Burger King Executives probably did.   A company car doesn’t count as “income.”  

What Americans Think About Inequality


So far, we’ve seen that the United States has a much higher degree of income inequality than other Western democracies and that the degree of income inequality in the U.S. is increasing substantially.  Since a democratic political system should, in part, be guided by public opinion it is reasonable to ask: What does the American public think about the degree of income inequality?  Depending upon how the question is asked, Americans do tend to think the rich have too much in relation to middle and low-income groups.   

To keep this short, a rather large amount of research tells us the following: (1) Americans vastly overestimate their chances of becoming rich; (2) vastly underestimate the degree of income inequality (i.e., do not think the wealthy are as wealthy as the actually are); and (3) have a difficult time connecting public policy to economic outcomes (e.g., not that many see the Bush Tax Cuts as a tremendous redistribution to the wealthy - that the Bush Tax Cuts primarily go to high-income households and these tax cuts will require reducing funding for programs that primarily benefit middle and low-income households).  All of this greatly helps conservatives.  For example, you are less likely to support raising taxes on the wealthy if you think: (1) you will become wealthy; (2) the wealthy really aren’t “that wealthy”; and (3) don’t know much about the distribution of the  benefits from the Bush Tax Cuts or the service reductions they will necessitate.  When Americans are shown the actual degree of income inequality, their support for government efforts to reduce the income differences between the rich and poor approximately doubles (from 25%-30% to almost 60% -  Jacob Hacker and Paul Pierson, Winner-Take-All Politics, p. 155).   


Americans do desire a less unequal distribution of wealth.  Recently, two scholars tried an interesting experiment.  Currently, wealth in America is distributed as follows: the richest 20% of households (percentiles  81-100) have approximately 84% of the wealth, the next richest 20% (i.e., percentiles 61-80) have approximately 11%, the middle quintile (i.e., percentiles 41-60) have approximately 4%, the next poorest 20% (i.e., percentiles 21-40) have approximately .2% (two tenths of 1%) and the poorest quintile (i.e., percentiles 1-20) have approximately .1% (one tenth of 1%).  


Not being told what nations had what distribution of wealth, Americans were offered three choices: (1) the current American distribution of wealth; (2) perfect equality (i.e., each quintile getting an equal – 20%-  share of the wealth); or (3) the current Swedish distribution of wealth [the richest 20% of households (percentiles  81-100)  approximately 36% of the wealth, the next richest 20% (i.e., percentiles 61-80)  approximately 21% of the wealth, the middle quintile (i.e., percentiles 41-60)  approximately 18% of the wealth, the next poorest 20% (i.e., percentiles 21-40)  approximately 15% of the wealth and the poorest quintile (i.e., percentiles 1-20)  approximately 11% of the wealth].  According to Michael Norton of the Harvard Business School and Dan Ariely of Duke University, the results were as follows: 47% chose Sweden’s distribution, 43% chose perfect equality while only 10% chose the current American distribution. (source: Michael Norton and Dan Ariely, “Building a Better America - One Wealth Quintile at a Time,” Perspectives on Psychological Science).  

Public Policy Options


If I were reading this when I was the age of most of you in this class (far too many years ago!), I would have felt like raising the following three points: First, just because someone begins life poor doesn’t mean they have to remain poor. Second, wouldn’t government attempts to reduce income inequality reduce the incentives for people to earn high-incomes, thus lowering the overall quality of life in the United States?  Third, wouldn’t a government large enough to undertake the programs necessary to greatly help low and middle-income households lead to a reduction in the freedoms we read about early in the semester (e.g., freedom of speech, press, etc.)?  

All of these are important considerations.   Fortunately, political scientists, economists and sociologists have thoroughly studied these topics.  Let’s examine what they’ve found.  While the research is far too numerous to summarize in this short a reading, I can give you the “gist” of it.   


While it is true that anyone can “rise from the bottom and get to the top,” it is also true that where you begin life is strongly related to where you end it.  To offer an opinion, the high levels of income inequality in the United States would be much more defensible if everyone had an equal chance.  This would mean that the income of your parents would be unrelated to your eventual income.   That is not the world we live in!   

If you compare the eventual income of two children from different families, on average, the child from the richer family receives an annual income that is higher than the child from the poorer family by approximately 30%-40% of the difference in the incomes of their parents (study results courtesy of Sociologist Christopher Jencks).  For example, a child from a family that made $100,000 per year would, on average, out earn a child from a family that made $25,000 by approximately $25,000 per year (the difference in their parents incomes was $75,000 – i.e., $100,000 - $25,000 = $75,000; 33% of $75,000 = $25,000).  Thus, if later in life the child of the poorer family was earning $25,000 per year and the child of the richer family was earning $50,000 per year, you could say that the difference was entirely due to background.  Given that the average U.S. household has an income of around $60,000, the $25,000 annual “dividend” the child from the $100,000 household has over the child from the $25,000 household is important (it would be about 40% of the average income – i.e., $25,000 is roughly 40% of $60,000).


From different sources I can also tell you the following concerning mobility between income groups over the life cycle: (1) children born into the poorest 20% of households have approximately a 42% chance of ending up in the poorest 20% themselves, a 24% chance of ending up in the next poorest 20% and only a 6% chance of ending up in the richest 20%.  Conversely, those born into the richest 20% of households have nearly a 40% chance of ending in the richest 20% themselves, while barely a 6% chance of ending up in the poorest 20%; (2) Father’s and Son’s incomes in the U.S. correlate at about .43 (correlation ranges from 0 to 1.0 so this is a moderate correlation – taken from an average of several studies), and is higher in the U.S. (i.e., less mobility) than in Sweden, Norway, Finland, France, Spain, Germany, and Canada.  Socioeconomic factors (i.e., intelligence, schooling, parent’s wealth, etc., account for only about 1/3 of the differences – Rags to Riches? 2004 - www.tcf.org and Hacker and Pierson, Winner-Take-All Politics, page 29).  Mobility is limited in the U.S., probably due to less spending on social welfare programs.  Thus, where you start is strongly related to where you finish.  Since you can’t pick which family you’re born into, this means that luck is very important in terms of your eventual position in the income distribution!  This is troubling because “luck” isn’t “merit.” 


Consider how the Bush Tax Cuts affect mobility from low to high-income groups.  First, by repealing the estate tax and reducing other taxes on high- income individuals, the Bush Tax Cuts give the wealthy more wealth to leave their heirs.  Obviously, this makes it more difficult for most of you to try to amass more wealth than the heirs of the currently very wealthy due to the fact these heirs will be given such a tremendous head start on you.  Second, by reducing the revenue of the federal government, the Bush Tax Cuts will all but require reductions in programs that help low and middle-income people ascend the economic ladder (e.g., the Pell Grant Program for poor college students, health care for the poor, job training, public transportation, etc.).  So, would repealing the estate tax (the tax on inherited wealth) with ensuing reductions in programs that help low and middle-income people increase their future earnings reward “luck” or “merit”?  


The Bush Tax Cuts reveal a very pertinent fact about economic policy: there is often a great difference between programs that help the non-wealthy acquire wealth versus policies that protect the wealth of those who already have it.  What is good for one group is not necessarily good, and often harmful, for the other group.   Approximately 75% of American household lose under the Bush Tax Cuts.  Since it is hard to imagine how someone can lose out of a tax cut, let me explain.  Roughly, the poorest 20%-25% of American households are too poor to pay federal income taxes.  Thus, any reduction in government services that would occur because of reduced federal revenue resulting from the Bush Tax Cuts would automatically adversely affect the most needy U.S. households.  

Since the Bush Tax Cuts reduce federal revenue, they will likely increase the size of the federal deficit.  This means that the federal government will have to borrow more money.  Increased federal borrowing will increase the cost of a loan.  Thus, the Bush Tax Cuts will increase the cost of borrowing money for the poor (e.g., to finance a car).  For the poorest 75% of American households, the value of foregone government services (e.g., less money to subsidize public transportation, health care, etc.) and additional borrowing costs are larger than the value of their Bush Tax Cut.   

The real gains from the Bush Tax Cuts go to households with incomes much higher than the median.  The average Bush Tax Cut is $1,126 but 83% of households receive less than $1,126 and 53% of households receive only $100, or less!  The “average” gain of $1,126 is achieved by having a relatively small number of households receive very large amounts of money.  The median U.S. household (i.e., half the households have a higher income and half the households have a lower income) receives only $217 from the Bush Tax Cuts (“Year-by-Year Analysis of the Bush Tax Cuts Shows Growing Tilt to the Very Rich,” Citizens for Tax Justice, www.ctj.org, June 12, 2002). That’s why an “average” can be misleading.  The median tax cut (half the households above and half below) provides a much more accurate picture of what the typical household receives than the mean cut. This is why the Bush Administration always mentioned the mean tax cut rather than the median tax cut (i.e., it looks like the average household gains more – they don’t, but it appears that way).  



Before leaving the Bush Tax Cuts, one additional point should be made: relative to other policy options the Bush Tax Cuts are one of the very least effective, and most costly, methods of stimulating the economy and, ultimately, reducing unemployment.  As economist research indicates: lower-income households spend a higher percentage of each additional dollar they receive than higher-income households.  For example, a household with a $40,000 annual income will spend a higher percentage of each additional dollar it receives than a household with a $200,000 annual income.   This is because lower-income households have greater unmet needs than higher-income households (e.g., replacing a worn out television set, car, etc.).  By showering more money on the richest 1% of households (i.e., households with incomes above $370,000) than on the entire poorest 70% of households combined, the Bush Tax Cuts place the most money in the hands of those least likely to spend it.   

Contrast this with the policy options favored by the Obama Administration and Congressional Democrats: reducing payroll taxes (e.g., Social Security and Medicare taxes), extending unemployment compensation and spending more money on infrastructure (e.g., roads, bridges, etc.).  Since payroll taxes take a greater percentage of income from low-income than from high-income households and the unemployed (as we saw earlier) are more likely to come from low and middle-income groups, every dollar spent on either payroll tax reduction or unemployment compensation will generate more spending than the same number of dollars spent through the Bush Tax Cuts.  The following indicates how much additional economic activity occurs per dollar spent: extending unemployment compensation - $1.60; payroll tax reduction - $1.09; extending the Bush Tax Cuts - $.35 (i.e. for each dollar given to tax payers through the Bush Tax Cuts, we only receive 35 cents of additional economic activity – only a fourth as much per dollar spent as on unemployment compensation – i.e., $.35 is about ¼ of $1.60 - and about 1/3 as much as reducing payroll taxes – i.e., $.35 is about 1/3 of $1.09 -  source: “Zandi Estimates Show “Democratic” Measures in Tax Cut – UI Deal Boost Economy, “Republican” Measures Add to Deficit Risks,” Center for Budget and Policy Priorities – December 22, 2010 – available at www.cbpp.org - these are similar findings to the nonpartisan Congressional Budget Office).   

Since all income groups will save some percentage of the money they receive (i.e., lower-income households will save some money, just not as a great percentage as higher-income households), having the government directly spend money is more stimulative than tax cuts.   For example, if a household receives a tax cut of $1,000 and spends $930 of it (i.e., saves $70), this is less spending than results from having the government directly spend the entire $1,000.   Thus, having the government directly spend money is more highly stimulative and, ultimately, reduces unemployment more than the same amount of money spent through tax cuts.  

Given the previous discussion of which income groups are most harmed by either unemployment or inflation, and the fact that lower-income groups vote more Democratic than higher-income groups, isn’t it clear why the two major political parties choose very different policies concerning unemployment, inflation, taxation and extending health care coverage?   Both major U.S. political parties are pursuing policies that more benefit their supporters than the policies of the opposition party.  That makes sense.    


The second consideration I raised was that high taxes would undermine economic growth.   Thus, if the government both taxes and spends a large share of the economy won’t  we end up with more equal slices of a smaller pie (or a pie that isn’t growing as fast as it otherwise would)?  While this is an important point, the evidence in favor of it is not compelling. As the textbook in this course mentions, tax rates as a percentage of the economy are much lower in the U.S. than in most wealthy democracies: U.S. - 27%, Canada – 34%, Germany – 35%, Great Britain – 37%, Italy – 41%, France – 44% and Sweden - 51% (Patterson, The American Democracy, 10th alt. ed., p. 17).  Additionally, governments in the U.S. spend a smaller percentage of the economy and provide a weaker social safety net than European democracies.  For example, the U.S. is the only wealthy democracy that does not guarantee health care to all citizens.   Moreover, governmentally provided child care/day care, while commonplace in the other wealthy democracies,  is not a “right” in the United States.   Furthermore, governmental provided pensions (Social Security in the United States) are less generous in the U.S. than in other wealthy democracies.  Therefore, the working poor in the United States have to purchase very costly benefits/services (often health insurance and/or out-of-pocket medical expenses, child care and enhanced retirement benefits) which are typically governmentally provided in other wealthy democracies (David Brady, Rich Democracies, Poor People, Oxford University Press).


If the “big government reduces growth” argument is true, since U.S. governments spend less of the economy, tax less and provide weaker social guarantees than European nations, the U.S. should have a higher economic growth rate.  The truth is that the U.S. growth rate is about average among the wealthy democracies of the world.  From 1990-2005 per capita (i.e., per person  - to adjust for differences in population size between nations) growth rates were as follows: U.S. - 85%, Netherlands – 86%, Norway – 134%, France – 60%, Australia – 91%, Canada – 69%, Denmark – 80%, United Kingdom – 111%.  “Since 1980, per capita real G.D.P. (Gross Domestic Product) – which is what matters most for living standards - has risen at about the same rate in America and in the E.U. (European Union - 1.95 percent here; 1.83 percent there - Paul Krugman, “Learning From Europe,” New York Times, January 11, 2010).  As economist Peter Lindert of the University of California at Davis put it, “No matter how you torture the data, there is no negative relationship between a commitment to the welfare state and the growth rate in how well off we are.”  While taxes may reduce the willingness of some to work as hard, many of the purposes for which tax dollars are spent (e.g., education, infrastructure, etc.) increase the growth rate.   


As Paul Krugman notes, “The point isn’t that Europe is utopia.  Like the United States, it’s having trouble grappling with the current financial crisis.  … But taking the longer view, the European economy works; it grows; it’s as dynamic, all in all, as our own.” (Paul Krugman, “Learning From Europe,” New York Times, January 11, 2010).  The European system puts the individual much less at economic risk than our system, achieves a similar rate of growth and has much lower income inequality.  
  
While a free market (defined as voluntary exchanges between mutually consenting individuals) is very good at channeling resources into their most productive use (e.g., How much should be invested in book stores vs. clothing boutiques?), it is not very good at providing broad-based social insurance (e.g., health care, retirement pensions, etc.).   As political scientist Jacob Hacker notes, “In the fiercely competitive market of economic textbooks, multiple sellers appeal to multiple buyers who have good information about the comparative merits of relatively similar products.  Competition squeezes out inefficiencies and yields optimal outcomes.  But ‘markets’ for social insurance (e.g., health care, retirement plans, etc.) don’t work like this.   In particular, information in these markets is both scarce and unequally distributed.  Consumers, for example can saddle private insurers with “adverse selection,” which occurs when only high-risk folks buy insurance.”  


For example, suppose just those people highly likely to get cancer buy health insurance.  The rates would be extremely high because there would be few “healthy” people to spread the costs of the cancer patients over.  That’s why compulsion (i.e., a government requirement that each person buy health insurance) is necessary if we desire broad-based health care coverage.  That’s also why the government needs to regulate what level of benefits insurance companies can offer.  Without such regulations, insurance companies can offer low-risk individuals (e.g., the young and healthy) minimal coverage at low rates while excluding coverage for costly items.  While such policies would be inexpensive to those insured under them, they would not bring in the amount of money necessary to avoid having high-cost patients pay a prohibitively high price for the services they use.  For example, without shifting much of the cost to healthy individuals, how could someone with a minimum wage job pay for open heart surgery?  They couldn’t.  That’s why the costs need to be shifted to healthier patients.   


On the producer side, health insurance companies can take steps to avoid costly patients (e.g., by denying coverage to people with unhealthy family histories).  All of this is why health insurance aimed at achieving social objectives (e.g., that everyone have health insurance) has never worked well, or indeed at all, without some governmental support and regulation (e.g., a requirement that everyone buy health insurance, that health insurance companies sell only policies covering a very wide range of conditions and subsidies for the poor to help them buy insurance).  


While discussing government regulation, it is important to discuss government rationing.  For example, in the debate over President Obama’s health care plan opponents claimed that the government would determine what care  patients received.  Furthermore, they claimed the government could deny care (e.g., “Death Squads for the Elderly”).  Health care is a scarce resource.  It uses limited resources and, hence, not all possible uses of those resources can be undertaken.  This means that health care must be rationed.  


Every health care system in the world, including our own (even before President Obama’s health care plan became law), rations health care.  For example, would you pay an additional $200 per month for health care in order to prolong the life of terminally ill patients an average of 3 months?  If “yes,” how about $400 per month?  Once you say “no” (i.e., refuse to pay), you are rationing health care (Peter Singer, “Why We Must Ration Health Care,” New York Times, July 19, 2009).  The only options we have are to determine how much money we will spend on health care, who makes the rationing decisions and by what criteria.   To those who think the government shouldn’t make rationing decisions, let me offer the following question: Would you prefer to have a government panel – typically headed by physicians – make the necessary rationing decisions or would you rather have a for-profit insurance company make them?   That’s the choice we actually have.     


We can choose the criteria by which we ration.  At the current time we largely ration “by price/ability to pay.”  Thus, you get what health care you can afford.  This is not the only principle by which we could ration health care.  Should a patient’s effort affect their ability to receive health care?   For example, if your doctor tells you to quit smoking and/or lose weight, should a person who follows such advice receive better health care than someone who doesn’t?


Government policies do have important affects on the rationing decisions that all health care systems must make.  For example, cigarette taxes reduce cigarette smoking.  Economists have found that a 10% increase in the cost of cigarettes reduces smoking by about 3%-4%.  Thus, cigarette taxes reduce the amount of smoking which, in turn, reduces the onset of a large number of adverse health consequences (e.g., cancer, heart attack, stroke, etc.).  Without cigarette taxes, the demands on our health system would be even greater.  Assuming the same amount of money to spend, without cigarette taxes we would have less money to “ration” to other health care needs (e.g., diabetes) which would mean less treatment for those with important medical needs.  One of the reasons to mention this is that many of those who claim the Obama Health Care Plan will lead to government rationing of health care to the elderly are the same individuals/groups who oppose government regulations (e.g., soda taxes, meat taxes, restaurant menu labeling requiring disclosure of calories, fat, sodium, etc.) which would greatly reduce adverse health consequences (e.g., obesity) which, in turn, would leave more money for the health care needs of senior citizens.   



Broad-based government programs, such as Medicare (a government health care program for senior citizens), have two big cost saving advantages over a completely free market social insurance system: (1) compulsion – i.e., requiring everyone to buy health insurance lowers the cost because the cost of the “expensive” individuals (e.g., those likely to be ill) is spread over a large group (e.g., the healthy) and; (2) administrative cost (e.g., the typical private health insurer spends about 10% of its outlays on administrative costs, weeding out sick people, etc. whereas the government run Medicare program spends between 2%-3% of its budget on administrative costs).  The preceding are two of the major reasons why the #1 ranked (by the World Health Organization) French health care system spends only half as much money per person as the 37th ranked U.S. health care system (France - $3,600, U.S. - $7,200).  I’m sure former congressman Dick Armey spoke for many when he said, “The market is rational; government is dumb.”  However, this would not seem to be the case with the provision of social goods.  Some of the material in the preceding seven paragraphs was adapted from Jacob Hacker, “Bigger and Better,” The American Prospect, May 6, 2005.        


It is important to point out that government run programs such as Medicare aren’t the same as government ownership of productive assets.   Medicare doesn’t own hospitals or employ doctors, it contracts with privately owned hospitals and private physicians.  I should also mention that government programs such as Medicare and Medicaid (a government run health care program for the poor) currently pay substantially more of our nation’s health care costs (approximately 47%) than private insurance (approximately 35%).   Thus, realistically, we can’t “get the government out of health care.” 


It should also be mentioned that the democracies of Western Europe are, in the main, not socialist nations.  Socialism means that the government owns the modes of production and distribution.  For example, socialism in the U.S. would mean that the government would own the major fast food outlets (e.g., McDonalds, Wendy’s etc.) as well as communications companies (e.g., Verizon).   Neither the United States nor most all of the democracies of Western Europe (e.g., Great Britain, France, Denmark, Sweden, etc.) are socialist.  There is a huge difference between having higher tax rates and government spending than the United States (which the governments of Western Europe do have) and having the government own the major providers of goods and services (which the governments of Western Europe typically do not do).


The last of the three previously mentioned “considerations” about the size of government concerned the impact of the size of government on personal freedom.  Equating the size of government with personal freedom often involves equating private property with personal freedom.  This is difficult.   For example, would most Californians have more freedom if the beaches were sold to private individuals or if the State of California operates them?  At least to me, it is far from obvious that selling off state beaches to private individuals would increase the freedom most Californians enjoy.  Additionally, if state taxes were reduced taxpayers would have a greater freedom of choice in spending their money.  However, if these state tax cuts resulted in higher fees for U.C. and CSU students fewer students would attend college.  Not attending college would reduce both the future incomes and occupational choices of the individuals who did not attend college due to the budget reductions resulting from the state tax cuts.  In short, it would reduce their future freedom.  So, would such a state tax cut result in a “net” gain or loss in freedom?


In a related vein, I can understand someone opposing the requirement to buy health insurance on the basis that it denies the freedom not to buy health insurance.  However, before concluding that a requirement to buy health insurance reduces personal freedom, consider the ramifications that not requiring individuals to purchase health insurance has for personal freedom, as well as other possible societal values (e.g., fairness, security, etc.).   


If we do not require individuals to purchase health insurance, the “more healthy” (those less likely to need medical care) are less likely to buy insurance.   Without a governmental regulation requiring all individuals to buy health insurance there would be fewer “healthy” insured people to spread health care costs over.   Consequently, the cost of purchasing health insurance for the “less healthy” would increase.   As the cost to the “less healthy” increases, fewer of them will be able to afford health insurance.  If the lack of health insurance causes them either to not receive health care, or receive care at a time when their condition is no longer as curable (e.g., receiving late stage cancer treatment in an emergency room rather than early stage treatment when their disease would have been more curable), these individuals are more likely to die prematurely.   This will certainly reduce their individual freedom.  How much freedom can you use when you’re dead?   Thus, a relatively small loss in freedom for a large group of people (requiring each person to purchase health insurance) will provide a much larger amount of freedom (to make all the decisions living people can make) for a smaller group of people (the unhealthy).   If so, has the amount of freedom either increased or decreased?  It’s not so easy to answer!  You would have to balance the loss of many small amounts of freedom against a fewer large gains in freedom.       


While governments can greatly curtail freedom (e.g., the former Soviet Union), governments can also tax much more highly than in the United States, run health insurance programs, provide many more social guarantees than we have in the United States and still maintain a very high level of freedom.  This is a topic political scientists have studied at length.  We have devised interesting measures of freedom and democracy.  People in the democracies of Western Europe are typically as “free” as Americans.  For example, free speech in Great Britain is as great as it is in the United States.  Additionally, some Western European nations actually have higher scores on some measures of democracy than the United States.  Typically, this occurs because of lower voter turnout and fewer major political parties in the United States.  


As mentioned previously, the private market won’t distribute social goods (e.g., insuring everyone for health care, eliminating poverty, etc.) in a way that citizens need.  Before we had Social Security, a large percentage of the elderly were destitute.  Free market mechanisms alone can’t solve such problems because private income is inadequate to pay for social needs (i.e., the poor are “poor” because their marketable resources – e.g., labor, etc., don’t provide enough money).   The “big picture” is that, if we wanted to, our nation could reduce economic inequality significantly and still have an equally vibrant, growing economy with the same level of freedom we currently enjoy.   This is really a question of values (i.e., Do we want to?) rather than possibilities (i.e., Could we?)


One last point about the consequences of governmental attempts to redistribute income concerns the performance of our democracy.  Increased redistribution of income and wealth might well improve the functioning of democracy in the United States.  What some refer to as “the Debilitating Cycle” is a very important problem: greater income inequality leads to a greater reliance of politicians on campaign contributions from the wealthy, which, can easily cause these same politicians to adopt policies that even more favor the wealthy, which starts the same cycle again (Larry Bartels, Unequal Democracy, Princeton University Press).  


A new study by Page, Bartels and Seawright (“Democracy and the Policy Preferences of Wealth Americans”, paper presented at the annual meeting of the American Political Science Association, 2011) shows how different the policy preferences of the wealthiest 1/10th of 1 percent (those with a net worth of approximately $40 million or more) from those of the average American.  Relative to the average American, the very wealthy are:  (1) much more concerned about budget deficits; (2) much more favorable to cutting social welfare programs, especially Social Security and health care; (3) are considerably less supportive of an above-poverty-level minimum wage, or having the federal government “see to” or provide jobs for the unemployed; (4) much less supportive of providing broad educational opportunities; (5) much less willing to redistributive income to those poorer than themselves; (6) less willing to raise taxes on high income groups (e.g., less supportive of having an estate tax); and (7) are less willing to regulate either the stock market or businesses.  Now think of how the increased share of income going to this group increases the reliance of politicians on the campaign contributions of a group which is much more conservative economically than the general public.   This is highly likely to cause public policy to be skewed away from the interests of average Americans.   While extremely high income groups have received a greatly increased share of the income over the past 40 years, the percentage of the workforce that is represented by unions (an obviously group that would oppose the views of the very wealthy on virtually all of the policies just mentioned) has greatly declined (1954 – 32%, today 13%).  This combination (a greatly increased share of income/wealth going to very wealthy citizens coupled with a greatly declining percentage of the workforce unionized) means that the political incentives of politicians have, on economic issues, moved considerably to the political right over time.  This is also a major reason why public financing of campaigns could greatly improve the functioning of our democracy.   

Republican and Democratic Party Proposals for the Present and Future


Let’s apply the aforementioned considerations (size of government and economic growth, size of government and freedom, and public sector vs. private social welfare programs) to the philosophy of the two major parties toward both our current and future economic problems.   President George W. Bush proposed a series of policies to deal with our nation’s economic future that were collectively referred to as “The Ownership Society.”  The idea is that each individual citizen would “own” items that had previously been provided by the government.  For example, if each individual citizen can choose how to invest their money in a personal Social Security Account you could say that person “owned” their retirement.  If a person were either given a set amount of money to spend by the government for health insurance (i.e., a health insurance voucher) and/or saved money in a Health Savings Account to use for medical expenses, you could say that  person “owned” their health care.  Similarly, if a person saved money for college in an Educational Savings Account, you could say that person “owned” their college education.  


Since we’ve discussed health care at length let’s see how “The Ownership Society” would have changed American health care policy and the degree of health care security American’s have.   Former President George W. Bush did not favor requiring all Americans to purchase health insurance.  He did favor, and at his urging, Congress did pass legislation setting up Health Savings Accounts in 2003.  In 2008, an individual could contribute up to $2,400 per year to such an account ($5,800 for a family).  The gains from this investment are not taxed and the money could be withdrawn to pay the deductable under a health insurance policy.  This is a tax free method of investing for those fortunate enough to have the money to participate.  Not surprisingly, those most likely to contribute to Health Savings Accounts are much richer than average (Edwin Park, “GAO Again Confirms Health Savings Accounts Primarily Benefit High-Income Individuals,” Center for Budget and Policy Priorities, May 19, 2008 – available at www.cbpp.org).  How would a family of four persons living in the Los Angeles area on $40,000 per year have the left over income (i.e., after paying rent/mortgage, food, clothing, etc.) to put in a Health Savings Account?  They wouldn’t!    


Suppose you need a heart operation and your insurance only pays for expenses above $25,000.  If you had saved the maximum allowed per year for ten years in a Health Savings Account, you could pay the entire deductable (i.e., $25,000) from this account.  If you felt you would be healthy, this could be a good gamble.  If you don’t think you’ll need the insurance (i.e., remain healthy), buy a less expensive health insurance policy (i.e., one with a high deductable).  


Now, look at the relationships between wealth/education and health: (1) more well-educated and higher-income individuals are more likely to value delayed gratification – i.e., foregoing something today for a greater future gain - in this case, eating healthier food, maintaining a healthier weight, not smoking, etc. than less well-educated and lower-income individuals; thus, (2) more well-educated and higher-income individuals are less likely to need medical attention than less well-educated and lower-income individuals; and (3) more well-educated and higher-income individuals are more likely to contribute to Health Savings Accounts than less well-educated and lower-income individuals.  By not requiring people to buy insurance and by allowing people to put money into Health Savings Accounts, higher-income people, who are typically more healthy, are able to remove money that would’ve gone into an insurance pool from which the unhealthy could benefit.   Thus, the practical effect of Health Savings Accounts is to reduce the ability to spread medical costs over a larger, healthier, population.  Withdrawing money that a healthier population would have put into an insurance pool and, instead, placing it in the hands of higher-income households means that the costs of health insurance to the less healthy population, disproportionately drawn from middle and low-income households, will increase.   All of this works to the advantage of higher- income individuals.  


The Ownership Society proposal for education (another tax-free savings plan) has a similar effect to the Health Savings Accounts.  Here’s why: (1) higher-income individuals are much more likely to have the necessary money to put into such an account; (2) citizens are more likely to vote in favor of increased taxes for education when they have children in the public education system; and (3) the money from an Educational Savings Account will either more allow students to afford a private college and/or reduce their need for more funding for state run colleges.  For example, the money from the account means they are less likely to need financial aid than other students.  Points 1-3 mean that the educational “gap” between students from lower and higher-income households will increase.  


This is similar to the effect that government vouchers (e.g., a government check for $1,000 per child) for K-12 schools typically have: (1) the vouchers don’t cover the entire cost of education; so, (2) the household must put money together with the voucher in order to afford a private school; (3) higher income households are better able to pay these costs; (4) more children from higher-income households are placed in private schools; (5) this reduces the willingness of higher-income households to vote in favor of school bonds for public schools; therefore, (6)  the educational “gap” between children from low-income and high-income households increases.  


One of the reasons I stress the importance of a candidate’s political party affiliation is that it is, typically, a relatively accurate predictor of a candidate’s issue positions.  George W. Bush is no longer president.  Today, the Republican Party does not use the term “Ownership Society.”  However, the proposals of the intellectual leaders of the party, such as Congressman Paul Ryan of Wisconsin, are virtually identical to what I have previously outlined.  I’ll mention Congressman Ryan’s proposals because they have been at the center of newspaper and television commentary on what the Republican Party’s economic policy proposals will be.  


Congressman Ryan calls his plan, “The Roadmap for America’s Future.”  His plan would: (1) cut federal taxes of the richest 1% of households by 50% (i.e., in half – this is in addition to the tax cuts this group would receive by making the Bush Tax Cuts permanent); (2) replace some of the lost revenue from the tax cuts for the richest 1% of households with a much more regressive consumption tax on most goods and services (i.e., paid much more by middle and low-income households – families with incomes between $50,000 and $75,000 would face a tax increase of around $900 per year); (3) freeze discretionary domestic spending (keep in mind that, that after adjusting for inflation and population growth, this would mean a 25% reduction over 10 years in such items as public transportation, etc.);  privatize Social Security (i.e., individual accounts) and; (5) replace Medicare for senior citizens with a voucher (i.e., an amount of money to buy health insurance).  Since the Ryan plan doesn’t require all citizens to buy health insurance and includes Health Savings Accounts, health care costs will increase (see previous discussion).  These increases would occur at the same time that Ryan wants to reduce Medicare spending.  Thus, senior citizens would have much poorer health care under the Ryan plan than currently.  


As Paul N. Van de Water notes, “The Ryan plan proposes large cuts in Social Security benefits — roughly 16 percent for the average new retiree in 2050 and 28 percent in 2080 from price indexing alone — and initially diverts most of these savings to help fund private accounts rather than to restore Social Security solvency.”   This is very similar to former President George W. Bush’s proposal for Social Security.  Unlike Bush’s Social Security Proposal, the Ryan Plan protects those whose investments result in less income than under the traditional Social Security program.  Ryan’s guarantee would encourage seniors to make more risky investments.  Why not gamble on an investment with large possible gain (but also large possible loss) when the federal government insures you against loss?


While the Ryan Plan does include a protection for senior citizen’s whose investments yielded a return lower than what they would have received under traditional Social Security, it is extremely unlikely that this guarantee would be paid in full.  Here’s why: Ryan would use government revenues to replace the lost income to senior citizens whose investments performed poorly.  The cost of this guarantee would be very high. Given the reductions in other programs that would be required to fully fund this guarantee (e.g., in defense, education, environmental protection, etc.) it would be extremely unlikely to be fully realized.  My principle sources for the discussion of  Congressman Ryan’s “Roadmap for America’s Future” are:  “The Ryan Budget’s Radical Priorities: Provides Largest Tax Cuts in History for the Wealthy, Raises Middle Class Taxes, Ends Guaranteed Medicare, Privatizes Social Security, Erodes Health Care,” Paul N. Van de Water, Center for Budget and Policy Priorities, July 7, 2010 – available at www.cbpp.org  and Paul Krugman, The Flimflam Man, New York Times, August 5, 2010.  


A couple points about Social Security are worth mentioning.  First, Social Security is an insurance plan to keep the elderly and disabled from living in poverty.  It is NOT a savings plan that should evaluated on how much a person’s investment grows.  Thus, unlike a savings plan, benefits are NOT necessarily related to the contribution you make.  In order to keep a large segment of the elderly and disabled from falling into poverty, the program has to payout greater benefits relative to the amount contributed for lower income earners.  This is why it is not correct to compare Social Security benefits to some hypothetical retirement plan.  Relatedly, this IS why Social Securities’ benefits are guaranteed.  Thus, unlike 401k plans, Social Security provides a guaranteed level of benefits rather than have benefits tied to the performance of an investment (e.g., the stock market).  Second, relative to the size of the economy and a person’s income, Social Security is less generous than similar programs in Europe.  For 67% of the current retired population, Social Security provides over-half of their income.  For more than one-third of the current retired population, Social Security provides 90% of their income (Los Angeles Times, Sept. 18, 2011, page B10).  As current trends show that a smaller percentage of workers today have retirement plans through their employer and a smaller percentage of these plans provide a guaranteed benefit, future generations are likely to be more dependent on Social Security than current retirees (Jacob Hacker, The Great Risk Shift, Oxford University Press).   Thus, rather than reducing Social Security benefits and/or raising the retirement age, an excellent argument can be made for increasing the amount of money Social Security pays to recipients.  Third, while in roughly 25 years Social Security will only be able to pay approximately 77% of the scheduled benefits (77% of future benefits should be as large as 100% of current benefits for most  – i.e., 77% is not necessarily a “cut”), this situation is easily correctable.  To put this deficit in perspective, if we either devoted .8 of 1% more of our economy to Social Security (e.g., applying the Social Security tax to all income and not just that portion under $107,000 – we’ve raised the income subject to Social Security taxes 43 times in the past) or cancelled the Bush Tax Cuts for those making $250,000 and above, Social Security would be entirely solvent for the next 75 years (i.e., longer than most of you reading this will be alive – see Policy Basics: Top Ten Facts about Social Security, Center for Budget and Policy Priorities, www.cbpp.com).   Fourth, as most political scientists who study government social welfare policies in the United States, Canada and Europe will agree, one of the most important “keys” to keeping Social Security strong is to retain it’s universal coverage (i.e., everyone receives benefits).  This is why those whose philosophy is against governmental social insurance programs (i.e., Social Security, health care, etc.) typically argue to reduce or eliminate the benefits Social Security pays to upper-income earners (i.e., “means testing” – those “of means” don’t receive benefits): politically it is easier to reduce spending for a program which is perceived as a “welfare” program (i.e., benefits only the poor) than for a program in which everyone  benefits (e.g., see Jonas Pontusson, Inequality and Prosperity: Social Europe vs. Liberal America, Cornell University Press).   


In 2011, the Republican controlled House of Representatives passed Congressman Ryan’s updated version of the “Roadmap for America’s Future” called the “Path to Prosperity.”  While the “Path to Prosperity” omitted altering Social Security, it did the following: (1) retained all of the Bush Tax Cuts (including those for households earning over $250,000 per year); (2) further reduced the top income tax rate to 25%; (3) converted Medicare into a voucher system with the increase in the voucher limited to the overall rate of inflation (i.e., not to the rate of medical inflation which is much higher – had this plan been in effect the previous 10 years, senior citizens would have had approximately 30% less money for health care); and (4) converted Medicaid (for low income households) into a block grant program for states (i.e., a state gets a fixed total of money from the federal government that is not necessarily based on the number of recipients or the change in the cost of medical care).   This makes it far easier to reduce funding for Medicaid in the future. 


Looking at the 2012 Republican presidential candidate economic plans we see a group coalescing around former Minnesota Republican Governor Tim Pawlenty’s proposal to reduce federal government spending to 18.5% of the economy (that’s the lowest figure since 1966) and lower the top income tax rate paid by the highest income Americans to 25% (lower than at any time since 1931).    Over ten years Pawlenty’s tax proposal would reduce federal revenue by about 11.6 trillion dollars (about twice as much as the previously discussed Bush Tax Cuts).   With that much less revenue, how could the government increase mass transit, provide health insurance to the many workers who are losing their coverage, provide income support to the millions of workers whose incomes are not keeping pace with the cost of living or even maintain current level spending on research and development or education?  Simply put, it couldn’t!!  To emphasize how unified the Republican presidential candidates are around this type of proposal, a top level advisor to Republican presidential candidate Mitt Romney made the following statement: “The exchange (in a debate among Republican presidential candidates) over the Pawlenty economic plan was very telling; there was no disagreement on the principles.”  (Los Angeles Times, June 17, 2011, page 31 – Ronald Brownstein’s column)   


The Ryan and Pawlenty plans are very similar to the previously discussed “Ownership Society.”  It’s the same philosophy.   Depending upon your values, you could either favor, or oppose, programs such as “The Ownership Society” or Congressman Ryan’s, “Roadmap for America’s Future” and “Path to Prosperity.”   However, the outcomes under both plans are not disputable: they both significantly reduce economic security and increase economic inequality.   Regardless of whether one agrees or disagrees with the philosophy of the Republican party, the following conclusion is inescapable: the Republican proposals would make what is already, by far, the weakest social safety net of any wealthy democracy in the world much weaker still while simultaneously increasing the degree of after-tax income inequality in what is already the most economically unequal wealthy democracy in the world.  


It is interesting to note that, over time, income is less stable.  Thus, an income earner is less likely to have as secure, or stable, an income as they did 40 years ago (Jacob Hacker, The Great Risk Shift).  Additionally, the private sector is providing fewer social guarantees that it did a decade, or more, ago.  Today, fewer jobs come with health insurance and guaranteed retirement income.  Thus, personal economic “risk” is greater.   Which of the following seems more appropriate: as personal economic risk increases, you need the government less; or, as personal economic risk increases, you need the government more.   The two parties differ widely.  The Republican Party approach (i.e., “The Ownership Society” and “The Roadmap for America’s Future”) is to load increased personal economic risk back on the individual (i.e., less governmental guarantees – giving senior citizens a voucher rather guaranteed Medicare – same with health care for the poor; reducing taxes on high income earners that can be applied to public services for middle and low-income earners) while the Democratic Party approach is more in favor of using the government to offset increased personal financial (e.g., the Obama Health Care Plan – making health care more affordable for middle and low-income earners, increases the Pell Grant program for low-income college students, reducing the Bush Tax Cuts, increasing government deficit spending and increasing regulation of financial markets).  


If your preference is to try to help those in middle and low-income circumstances, here are some tax changes that would provide the money for policies (discussed later) that would further your goals.  First, allow the Bush Tax Cuts to expire.  As mentioned previously, they are heavily tilted to high income groups.  Additionally, allowing the Bush Tax Cuts to simply expire would cut the federal deficit by more than half.  Second, adopt a wealth tax.  In 2008, France, Norway, Switzerland and five other wealthy democracies adopted this tax.  As mentioned previously, the average growth rate of these economies is similar to our own.  Just a 2% annual wealth tax on households owning more than $7.2 million in assets (the richest ½ of 1% of households) would bring in at least $70 billion dollars per year (this is a conservative estimate – see Bruce Ackerman and Anned Alstott, “Tax the Wealth,” Los Angeles Times, Sept. 20, 2011, p. A11).  Not only would this help reduce the deficit and/or fund programs that could increase both the economic opportunity and security of those with middle and low incomes, it would also address the “debilitating cycle” discussed previously.  Income inequality in the U.S. today is far greater than in Europe and approaching the level of many unstable democracies in Latin America.    


Deciding on the aforementioned approaches to solving our problems are the decisions you really make at the ballot box.  This is why I mention to you so often that the person who votes the candidate and not the party is much more likely to cast a vote in favor of policies they oppose than a voter who understands the policy differences between the parties, chooses the party that is closer to their views, and, votes for the candidates of that party.   

Public Policy Options for California


I’m going to close this discussion by looking at taxing and spending by the state of California.  Since taxes are fundamental to the operation of the government, I will start there.  Although the emphasis is California, let’s start the discussion of taxes by looking at federal taxes.  Tax rates are NOT highly progressive in the United States.  The rich pay a higher percentage of their income in taxes than the poor, but not greatly so.  All federal taxes together (i.e., income taxes, Social Security taxes, etc.) take approximately 9.4% of the income of households making  $16,000 per year, approximately 20.5% of the income of households making $52,000, approximately 27.2% of the income of households making $200,000 per year and approximately 34% of households making $18,000,000 per year. (Thomas Piketty and Emmanuel Saez, “How Progressive is the U.S. Federal Tax System,” Journal of Economic Perspectives, Winter, 2007, available at: http://elsa.berkeley.edu/~saez/).  It is very important to mention that federal taxes have been made much less progressive over time.  To demonstrate the impact of reduced federal tax progressivity consider the following: “In 2000, the richest 1 household in 1,000 (i.e., .1 of 1%) had about 7.3% of total national after-tax income.  If the effect of taxes on their income had remained what it was in 1970, they would have had about 4.5% of after-tax national income (Jacob Hacker and Paul Pierson, Winner-Take-All Politics, page 49).  This would be a reduction of approximately 38% in their after-tax income (7.3% - 4.5% = 2.8 - 2.8 is approximately 38% of 7.3).  This decrease in federal tax progressivity was prior to the Bush Tax Cuts (which, as previously discussed, overwhelmingly benefit households with very high incomes).      


State and local taxes are even less progressive than federal taxes. Thus, if you add state and local taxes to federal taxes (i.e., to obtain “total taxes”) the tax burden is less favorable to the poor (i.e., less progressive) than for federal taxes alone.  State and Local Taxes are a greater percentage of personal income for the poorest 20% of a state’s households than for the wealthiest 1% of a state’s households in virtually every state (all but one).  In California state and local taxes take approximately 11.3% of the income of the poorest 20% of households while taking only 7.2% of the income of the richest 1% of households. (Citizens for Tax Justice)


Some argue that income taxes fall much too heavily on the wealthy.  For example, in California, the wealthiest 10% of the taxpayers pay approximately 75% of the state income tax. While true, this argument is misleading for two reasons: (1) the most important consideration is taxes as a percentage of income and not the percentage of a tax borne by a particular income group – thus, if California’s state income tax was only to raise $1 and Steven Spielberg paid that $1 he would have borne 100% of the state income tax burden – however, $1 would be virtually 0% of his income – thus it’s the percentage of income paid in a tax and not the percentage of a tax that a particular income group pays that is the important consideration; (2) this calculation excludes all taxes except the income tax (e.g., state sales taxes, property taxes, etc.) – when we include all state and local taxes and fees, the percentages mentioned above and the conclusion – that state and local taxes are a higher percentage of income for the very poor than the very rich – is correct.


As a percentage of income, state and local taxes in California are slightly higher than average but California should not be considered a high state and local tax state.  Federal, state, and local taxes combined are approximately 32% of state income - which is typically about the 9th highest burden in the nation.  However, much of this is because California has a higher average family income than most states and, as a result, a higher federal income tax burden.  As a share of personal income, California typically ranks about 18th (out of 50 states) in state and local tax burden with state and local revenues equal to approximately 17% of personal income. 


In political campaigns state spending is often an important topic.

One often hears candidates for state office talking about “runaway” state spending.   To examine this possibility we need to see how state spending changes in relationship to population growth and inflation.  For example, if the population of California doubled, wouldn’t the state have to spend twice as much money just to provide the same level of service?  Yes!  If this happened, one could say that state spending increased by 100%.  It sounds like a great increase, but it would only provide the same level of service as before the population doubled.   


Adjusting for inflation is also important.  If inflation causes the cost of living to increase by 3%, it would mean that in order to provide the same level of service, the state of California would have to spend 103% of what it previously spent.   Adjusting for population growth and inflation, to maintain the same level of service in 2009 that the state of California provided in 1999 state spending would have had to increase by 53%.  Over the 1999-2009 period spending by the State of California only increased by 29% (source: Center for the Continuing Study of the California Economy, June, 2009).  Thus, state spending in California has not kept pace with the growth in California’s population and the cost of living.  Additionally, in 1980 California General Fund Expenditures (i.e., state spending) was 7.4% of personal income. For 2009-2010, this figure had dropped to only 5.5% (i.e., state spending is a much smaller percentage of the income of Californians today than it was in 1980).   That’s not  “runaway” state spending!  


Another way of looking at the question of state spending is to take account of both need (i.e., what type of population we have) and state wealth (i.e., our “ability to pay”).  By such a measure, California ranked 37th out of the 50 states (Kendra A. Hovey and Harold A. Hovey. State Fact Finder, Congressional Quarterly Press, 1999).  This study was done just prior to the 1999-2009 period when California’s spending did not keep pace with both population increases and inflation.  In other words, California would probably rank lower today.  That does not seem like “runaway” spending.


California has a very large budget deficit: about 20 billion dollars annually – which is greater than 20% of general fund spending.  Unless we want to forego many services that Californians have typically desired (e.g., our system of public beaches, parks, low cost college education, using the Department of Motor Vehicles 5 days per week, etc.), we need to look at additional sources of revenue.  If we have the political will (which hasn’t been demonstrated so far), there is much additional revenue the state of California could collect.  Much of this revenue would have little, if any, demonstrable economic effect.  Some of it would actually improve the functioning of our economy.  


Let’s start by examining California’s sales tax.  Currently, our state sales tax does not apply to either the internet or services (e.g., amusement parks – Disneyland, using a tax preparer, etc.).  From a purely “economic” standpoint, this makes no sense.  By not taxing the internet and services/amusement parks, tax policy discriminates against those sources of business that are subject to the sales tax (e.g., “bricks and mortar” stores).   While taxing environmentally harmful products can be good public policy, what goal is served by making Disneyland or buying a product online more attractive relative to buying a television set from a local store?  None that I can think of!  Extending the sales tax to the internet and services would yield about 4 billion dollars annually (i.e., about 20% of the size of the budget deficit – “Tax Policy for the 21st Century: Resolving California’s Long-Term Structural Deficit,” California Tax Reform Association, 2005).   


Permitting reevaluation of business (i.e., non-residential) property values would bring in an additional 4 billion dollars annually (“Tax Policy for the 21st Century: Resolving California’s Long-Term Structural Deficit,” California Tax Reform Association, 2005).  As with the sales tax, current policy is not economically defensible.  The current policy only allows business property to be revalued when it changes ownership. Thus, long-held business property is taxed less than a new business purchasing similar property.  This gives older businesses a significant financial advantage over newer businesses.  Economic decisions are suppose to be based upon economic criteria (e.g., consumer taste, price, quality, service, etc.), not who held a property longer. 


A third tax policy change, which is desirable from both an environmental and revenue enhancement basis, is a carbon/pollution tax.   From an economic standpoint, the cost of pollution should be taxed to provide the appropriate disincentives to reduce pollution.  Currently, California is the only oil producing state that does not have a severance tax on oil.  A carbon/pollution tax (including a severance tax on oil) would bring in approximately 4 billion dollars annually (“Tax Policy for the 21st Century: Resolving California’s Long-Term Structural Deficit,” California Tax Reform Association, 2005).  Thus, these three tax changes, which are all defensible on non-revenue raising grounds, would close about 60% of the current budget shortfall.  Since the estimates I’ve used are several years old, there is every reason to think that they understate the revenue gains.  There are other very defensible tax changes that would almost close the entire budget deficit (e.g., allowing residential property to be revalued at other times than when it is sold and returning business taxes to the level they were in the 1990s).   Before we assume that only spending reductions are a desirable method of balancing California’s budget, let’s not forget some very defensible revenue enhancements.   


Critics of government regulation and taxation invariably argue that California has a poor business climate.  The “facts” suggest otherwise.   In 2000, California captured 42% of the nation’s venture capital funding.  By 2010, this figure was approximately 50%.  Since California represents only about 20% of the nation’s economy, this is a very high figure.  Moreover, from 1999-2009, California’s economy grew at a faster pace than the nation as a whole (California - 27.2%; U.S. as a whole – 20.2%).   Furthermore, job losses due to business relocation (i.e., businesses leaving California) accounted for only 1.7% of job losses in California.  This is less than the national average of 2.0%.  


One factor that would greatly help California’s business climate is a more highly educated workforce.   To meet employment needs, the percentage of California’s workforce with at least a bachelor’s degree needs to roughly double over the next 15 years (from approximately 21% to approximately 41%).  Tax cuts that result in reduced funding for higher education will not help us meet this critical need.  


A final point, California does NOT have a “big bureaucracy.”  State and local employees constitute a SMALLER share of California’s population than in approximately 45 of the 50 states.  That’s not “big government”!

Why Not Policies that Would More Help Middle and Low-Income Households?


From the preceding discussion it is clear that most of the income gains over the past several decades have gone to very high income households with little gain for most of the rest of U.S. households.   Additionally, for middle- income earners “real hourly compensation per hour” (i.e., dollars per hour worked after adjusting for taxes and inflation) is basically unchanged over the past 35 years.  Furthermore, companies are providing less generous fringe benefits (e.g., health care and pensions).  Given all of this, a reasonable question might be:  How come we keep getting policies most benefitting the very wealthy?  Given that politicians are elected by voters, most of whom would have a strong self-interest in more progressive taxation (i.e., the rich paying a greater share of the tax burden), more public services (e.g., government provided health care, better public transportation, a more generous Social Security system,  government subsidies to low-wage workers salaries, etc.), why aren’t we getting such policies?   Instead, it seems that as the wealthier get an increasing share of the national income, we adopt policies that will either help them get an even larger share of national income, or at least do not redistribute much income to middle and low-income groups.  


This is a critically important topic.  In order to address it, we need to start back with the strong commitment America has to absolutist individualism (i.e., to make the individual as reliant upon themselves as is practically possible).  Almost by definition, this value system means that there will not be a large role for government either in redistributing income or providing services.  Thus, it means that, relative to other wealthy nations that have a less strong commitment to absolutist individualism (e.g., Western Europe, Canada, Japan, Australia and New Zealand), American governments will do less to protect their citizens from the economic hazards of life.  For example, while the Democratic Party will provide greater governmental protection from economic hazard than will the Republican Party, the Democratic Party is not, in an “international sense,” a liberal party.  If we put the Democratic Party in Great Britain, France or Canada, it would be a centrist party, not a “left/liberal” party.    


In addition to the overall conservatism of the electoral choices we have (i.e., between a centrist Democratic Party and a conservative Republican Party), absolutist individualism also has an important impact on the political system  victorious candidates operate within.  As you remember from the readings/discussions earlier in the semester, our government structure makes it difficult for the government to act.  For example, we have the separation of executive and legislative power.  So, a president could veto an act of Congress.  This doesn’t happen in Canada and most all of Western Europe because, desiring a more activist government, they use a parliamentary system.  In a parliamentary system the prime minister (i.e., the corollary to our “president”) is selected by the ruling party in the legislature.  Thus, the executive and the legislature won’t be opposed to each other.  Therefore, in a parliamentary system you could not have a Democratic President and a Republican Congress.   If this weren’t enough to make it difficult for the government to act, in the U.S. Senate, 41% (i.e., a minority) can block the action of a majority.  As is often noted, our political system is much more geared to stopping action than taking action.  All of this makes it much more difficult for the federal government to take action.  


While both our strong commitment to absolutist individualism and the framework of our political system (e.g., the separation of powers), make it difficult for the government to pass laws, there are important changes in the balance of domestic political power that have taken place over the past 35 years that make it even more difficult for the federal government to act on behalf of the interests of middle and low-income citizens. In a “nutshell,” here’s what happened: (1) after suffering a large number of political defeats through the 1960s under both political parties, during the mid-1970s business groups (the U.S. Chamber of Commerce, the National of Manufacturers, the National Federation of Independent Business, etc.) decided to invest tremendous amounts of money both in lobbying members of Congress and contributing to political campaigns; (2) the relative strength of the counter-weight to business, labor unions, declined precipitously (in 1954 – 32% of the workforce was unionized - today only 13%), and with it a tremendous loss in both political information supplied to middle and low- income households and political participation by these citizens (i.e., unions contacting their membership with information on political issues, the membership then contacting elected officials); (3) the interest groups that have formed on the political left have dealt more with the concerns/interests of well-educated higher income voters rather than the working class (i.e., environmentalism, women’s rights and gay rights do not deal with the distribution of the tax burden, subsidies for low-wage workers or extending governmental provided health care); (4) due to both increased population and the rise of television, the cost of campaigning for public office greatly increased; and, (5) the increasing share of income going to very high income groups meant that politicians became much more dependent upon the very rich, a group which far more conservative on economic issues than the average American (see previous discussion of the opinions of the wealthiest 1/10th of 1%), for campaign funds.  For all these reasons the political position of business has become much more advantaged relative to labor (Jacob Hacker and Paul Pierson, Winner-Take-All Politics, pp. 116-123).   


As a result of their greatly increased political strength, business political action resulted in the election of more Republicans (who are philosophically compatible with the desire of business to reduce the progressivity of the tax structure, reduce government regulation of business and reduce the size of many government domestic political programs).  Where the political conditions meant that Democrats were likely to be elected (e.g., Obama in 2008), the increased political strength of business and the resulting increased costs of campaigns meant that Democratic candidates would now have to depend on business for a greater share of their financing.  The “price” of this would be that once elected, Democrats could not pursue policies that were as strongly opposed by business  as when Democrats were less dependent upon business for their campaign contributions.  Furthermore, as the wealthy received a greater share of the income, this meant that a greater percentage of campaign dollars would come from the wealthy.  Again, this made it more difficult for Democrats to pursue policies that would either redistribute the wealth and/or regulate business.  Put another way, all of these factors pulled both political parties in a more economically conservative direction and reduced the redistributive capability of the Democratic Party.  This isn’t the “entire story,” but it certainly is “the big picture” of it. 


Think of the political consequences of policy philosophies such as The Bush Tax Cuts, The Ownership Society, The Roadmap for America’s Future and The Path to Prosperity.  All of these policies accomplish three goals of many (but not all) conservative leaders: (1) they shift the distribution of the tax burden away from taxing investments (i.e., money made with money – income sources primarily of very high-income households) toward higher taxes on labor (i.e., taxes more paid by income from wages and salaries – the principle sources of income for the poorest 90%, or more, of households - by relying on consumption taxes); (2) reduce the amount of money redistributed to middle and low-income groups through public programs (e.g., mass transit, job retraining, guarantees for Social Security, Medicare, etc.); and (3) increase the size of the federal deficit to the point that future Democratic Administrations will have difficulty in undertaking programs primarily benefitting middle and low-income households (e.g., notice how difficult it is for Obama to get the necessary funding to implement his health care plan due to the size of the federal deficit – greatly swelled by the Bush Tax Cuts).   


The political consequences of the above mentioned policies significantly reduce the incentive for low and middle-income people to participate in the political process (e.g., vote) because they will perceive that government is not that helpful to them (i.e., their taxes will increase and the value of their government benefits will decrease).  So, why invest time and effort in politics?  This protects high-income households from future adverse political events.  Thus, if increasing income inequality might cause low and middle-income people to desire income redistribution, make it difficult for the government to accomplish this and reduce the incentives for low and middle-income people to get involved in the political process.  The goals and methods of many important conservative leaders (through their own statements) are well documented (see Larry Bartels, Unequal Democracy; Michael J. Graetz and Ian Shapiro, Death by a Thousand Cuts; Jacob Hacker and Paul Pierson,  Off Center; and Benjamin I. Page and Lawrence R. Jacobs, Class War?)    


What could we do?  The basic answer is to undo the changes of the past 40 years and adopt a social welfare system similar to the other wealthy democracies of the world.  While any proposed “reforms” would spark opposition from those who do well under the current system, I’ll mention two possible changes that would greatly alter the political landscape in a direction much more favorable to middle and low-income groups.  First, make it easier for workers to unionize.  Canada offers a compelling lesson.  According to the survey evidence, American workers are as favorable to unionization as Canadian workers (Jacob Hacker and Paul Pierson, Winner-Take-All Politics, p. 58).  However, over the past 50 years, the gap between the percentage of the Canadian workforce that is unionized and the percentage of the U.S. workforce that is unionized has steadily increased (Canada: 1960 - 32%, 2000 – 32%|U.S.: 1960 - 31%, 2000 – 13%).  Without a lengthy discussion, the differences over time are mostly attributable to differences in public policies governing the unionization process.  Not surprisingly, this was one of the earliest results of increased business political strength: make it more difficult for workers to unionize.   Notice that unified Republican control in Wisconsin and Ohio (i.e., where the Republican Party controls the governorship and both houses of the state legislature) has not only opposed making it easier to unionize but rather has made it virtually impossible for public sector workers to effectively unionize. 


The second change would be to enact Yale Law Professor Bruce Ackerman’s proposal for campaign financing, called “Patriot Dollars”:  have the federal government give each voter an ATM valued at $50 for each federal election cycle (i.e., every two years).  This money could only be used for campaign contributions (i.e., all unused money would be returned to the federal government – “yes” it could be done – the technology to ensure this does exist).  A voter could give their contribution to one, or a series, of candidates (Matthew Miller, The 2% Solution, pp. 172-180).   By not limiting how much individuals, businesses or unions contribute, this policy would not be invalidated by the Supreme Court.   The Supreme Court has ruled that restricting how much an individual, or group, can contribute violates their free speech (i.e., money equals speech).  Since Professor Ackerman’s proposal does not limit speech, it is constitutional.  By greatly increasing the amount of campaign money available, Professor Ackerman’s proposed policy would reduce the tremendous monetary advantage of both business and the wealthy.  


If the United States adopted the two aforementioned changes (easier unionization and the governmentally provided $50 per voter campaign contribution) it would change the political landscape in a manner that would significantly increase the chances that policies similar to those discussed immediately ahead would be adopted.  Such policies would provide a much greater standard of living, and security, to those in middle and low-income circumstances.  


If the goal is to reduce income inequality and increase income security while keeping a commensurate level of economic growth, the most important fundamental change is to realize that a more activist government will be necessary.   If present economic trends continue (i.e., greater personal economic risk and less personal economic security – small increases in hourly wages for most middle and low-income workers, reduced employer provided health care and less generous and secure private sector retirement benefits), the obvious “solution” is to have the federal government provide the benefits that the private sector use to provide.  This means having the federal government supplement wages (i.e., to provide cash payments to those who work but earn little), provide a health care benefits package to all citizens similar to Canada and Western Europe, provide child care/day care to working mothers and increase the amount of money Social Security provides to retirees.  


In studies that compare the poverty rates of various nations, the consensus among scholars is that poverty is best thought of as a relative concept.   Put another way, poverty is really a type of economic/social exclusion.  The impoverished person is, at least economically, excluded from participating in much of what the society they are a member of has to offer.  In contemporary America (as well as in Canada and Europe), a person without access to a computer could reasonably be considered “impoverished.”   Lack of access to a computer might not prove fatal, but it would greatly limit their economic, social and cultural opportunities.   


The median is a positional measure that divides a group into two equal parts.  For example, if you rank-order 101 households from richest to poorest the median income would be the income of the 51st household (i.e., 50 households would have a higher income and 50 households would have a lower income).   In poverty research the generally accepted standard is that a household is “impoverished” if it does not have an income equal to at least 50% of the median household income in that nation at that time (David Brady, Rich Democracies, Poor People, Oxford University Press, pp. 23-44).    


One of the primary difficulties the United States faces in confronting this situation “head on” is the following core set of beliefs about poverty: (1) poverty is the fault of the victim; (2) economic growth will greatly reduce poverty; (3) government intervention will increase poverty.  Each of these beliefs, at best, is  “suspect. ” For example, while it is true that single-mother households are much more likely to be impoverished than two-parent households and that U.S. has the highest rate of single-mother households among the wealthy democracies, even if every single-mother household in the U.S. were not poor, the poverty rate in the U.S. would still be much higher than in most wealthy democracies.  Similarly, variation in educational attainment (e.g., in some wealthy democracies a higher percentage of adults have graduated from college than in other wealthy democracies) does not explain much of the variation in poverty rates among the wealthy democracies.  Thus, while the well-educated typically have higher incomes than the less-well educated, this is not a fundamental reason while some wealthy democracies have much lower poverty rates than other wealthy democracies.  Furthermore, when economic growth in the U.S. has been higher than in the bulk of wealthy democracies, the U.S. poverty rate has been substantially higher than in the overwhelming majority of other wealthy democracies.   Greater economic growth does reduce the poverty rate in the U.S.  However, what this means is that the U.S. poverty rate (typically around 17% of households with Great Britain and Canada around 12%, and the Scandinavian countries – Norway, Sweden and Denmark – around 6.5%) fluctuates around a much higher average than in other wealthy democracies and even at it’s lowest level, is much higher than most all other wealthy democracies (David Brady, Rich Democracies, Poor People, Oxford University Press, pages 52-56).   Fundamentally, a nation’s poverty rate is much more the result of political choices (i.e., what policies it enacts) rather than the attributes of it’s population (e.g., educational attainment).  Thus, the United States could “choose” to have a much lower poverty rate if we so desire (David Brady, Rich Democracies, Poor People, Oxford University Press).


The preoccupation with the three aforementioned “core” beliefs about poverty has distracted us from the “big picture”: the main reason that the U.S. has a much higher poverty rate than the vast bulk of wealthy democracies is that we don’t spend nearly as much of our economy as do other wealthy democracies on income transfers (i.e., direct cash payments to either the unemployed, the working poor and the elderly) and do not provide universal health care and childcare.


I am going to close this section by outlining several policies that would greatly reduce the poverty rate in the United States, increase the growth of our economy and revitalize our democracy. Some years ago Nobel Prize winning economist Edmund Phelps proposed a government employment subsidy for full-time private sector workers.  The following is similar, but a bit more generous than Phelp’s original plan (Matthew Miller, The 2% Solution, pp. 162-171).  Assuming a minimum wage of $8 per hour, here’s how such a plan might operate: a worker earning the minimum wage of $8 per hour would receive a $4 per hour subsidy from the federal government (i.e., their “total wage” would be $12 per hour - $8 per hour from their employer plus $4 per hour from the federal government = $12 per hour) with the subsidy decreasing by 10% for each additional dollar per hour they earned.   For example, if a worker received a pay raise from $8 per hour to $9 per hour their federal wage subsidy would be reduced from $4 per hour to $3.60 (i.e., $4 reduced by 10% is $3.60 or, alternatively, $3.60 is 90% of $4).   Thus, if their wage from employment went from $8 to $9 per hour, this worker would go from a “total wage” of $12 per hour to $12.60 per hour ($9 + $3.60 = $12.60).  For each additional dollar per hour their employer pays them, their “total wage” increases.  Since the value of the subsidy decreases less than the increase the employer pays, there is a strong incentive for an employee to work for a higher wage from their employer.  The subsidy would be entirely eliminated for workers earning $18, or more, per hour.  


Based on Phelp’s original estimate of the cost, a “back-of-the-envelope” estimate would be that this plan, initially, would cost about $150 billion dollars per year beyond what we currently spend through the earned income tax credit.  This estimate is almost certainly “too high” (Matthew Miller, The 2% Solution, pp. 169-170) but I want to err on the side of conservatism.  Furthermore, Phelps estimated that within a few years the entire plan would be self-financing.   The reduced costs of crime (police, court costs, prison costs, etc. - individuals who earn more are less likely to commit crimes), welfare, plus greater tax yields from more profitable businesses (these higher wage workers will have more income to spend which will increase business profits), would likely recoup the entire cost of the plan (Matthew Miller, The 2% Solution, pp. 169-171).  Obviously, we could also extend this plan to part-time workers.      


Particularly as we reduce budgets it is very important to mention the tremendous impact education has on earnings.  In 1975 those with a bachelor’s degree out earned those with a high school diploma by approximately 60%.  By 2008 this differential rose to approximately 100%.  (Jeffrey Sachs, The Price of Civilization, 2011, p. 15)  Unfortunately, the United States ranks 12th in the percentage of 25 to 34 year olds with at least an associate’s degree (i.e., graduation from a community college - Jeffrey Sachs, The Price of Civilization, 2011, p. 20) 


An additional policy change that would be of tremendous benefit to low and middle-income households is universal childcare.  Child care/day care costs are very expensive, especially for low-income families.  In addition to helping children, universal childcare increases the incentive to work.    Let me explain.  For low-income households, much of the income benefit from a low wage job is reduced if the family has to purchase childcare.  By lifting this burden from low income households, the economic “value” of work is significantly increased.  Universal childcare is commonplace among the wealthy democracies of the world.  


I am now going to outline both the costs and financing mechanisms for the policies I’ve mentioned.  At the outset, let me mention just switching from the U.S. health care system to either a Western European or Canadian style health care system would save much more money than would be needed to pay for all of the policies I am discussing (i.e., would provide universal health care, the Patriot Dollar system of campaign finance, Phelp’s wage subsidy program and universal childcare).   Since the U.S. spends about 16% of it’s economy (i.e., GDP) on health care while Canada and Western European nations spend between 8.5% to 11.2% of GDP (“Health Care Spending in the United States and Selected OECD Countries,” http://www.kff.org/insurance/snapshot/OECD042111.cfm) the difference is about 4.8% to 7.5% of GDP.  The total cost of the programs I’m discussing is only about 2.7% of GDP (the programs would cost roughly $400 billion dollars per year which is about 2.7% of the $14.7 trillion U.S. GDP - 2010).   Additionally, switching health care systems would also eliminate all future financial shortfalls for Medicare.  Just changing our health care system to a Canadian/Western European system would not only cover our entire population, but reduce the per person cost of health care by about $2,000-$2,500 per person per year.  If we switched health care systems, taxes would increase, but this would be more than offset by the savings.  For example, if your taxes increase by $100 per month, but your take-home pay increases by $200 per month (due to  less money deducted by your employer for health insurance) or your medical expenses decrease by $200 per month (by reducing the amount you have to pay out of your own pocket for health insurance/expenses), your standard of living would increase by $100 per month.  Having all income subject to Social Security taxes (rather than eliminating the tax for income above $106,800) would keep the system solvent for the next 75 years (Janemarie Mulvey, “Social Security: Raising or Eliminating the Taxable Earnings Base”, Congressional Research Service, September, 2010, p. 2 – see http://aging.senate.gov/crs/ss9.pdf). 


While the case for switching to a Western European or Canadian style health care system is very persuasive (examine the World Health Organization rankings of health care systems and their cost), it is not a politically realistic option.  So, let me briefly outline methods of paying the costs.   First, the annual costs: Phelp’s wage subsidy - $150 billion (remember Phelps estimates that plan would cost nothing – i.e., be entirely self-financing with a few years – but estimating “conservatively” I am assuming the plan brings no savings); universal childcare - $150 billion (this estimate is also likely to be “much too high” – see the discussion in Robert Kuttner, “The Squandering of America’s Assets,” Challenge, January-February, 2008, p. 87); and the Patriot Dollars campaign finance system – $4 billion (Matthew Miller, The 2% Solution, p. 195 – to be conservative I increase Miller’s estimate from $3 to $4 billion).  


Currently, the United States is the only wealthy democracy in the world that does not guarantee health care to all citizens.  While the Patient Protection and Affordable Health Care Act (the Obama health care plan) is not a universal health care program (i.e., not everyone would have medical insurance), it greatly increases the percentage of the U.S. population that are medically insured from approximately 83% (as of 2011) to 93% (by 2014).  As fewer jobs contain health care and increasing health care costs are causing Americans to drop their health insurance, the 10% increase in health care coverage (from 83% to 93% of Americans) understates the impact of the program.  Thus, without the Patient Protection and Affordable Health Care Act fewer than 83% of Americans would have health care insurance in the future.   As previously, I am going to “overstate” the cost of the program.  The Congressional Budget Office estimates that the Patient Protection and Affordable Health Care Act will have an annual cost of $96 billion.  There is good reason to think that the various cost containment features of the legislation will reduce the rate of increase in health care costs.  Thus, without the Patient Protection and Affordable Health Care Act, future health care costs would likely be higher than the will be under this law (for an excellent discussion of both the politics and policy of the Patient Protection and Affordable Health Care Act see Lawrence R. Jacobs and Theda Skocpol, Health Care Reform and American Politics, Oxford University Press, 2010).     


The annual cost of the programs above is $400 billion (Phelp’s wage subsidy - $150 billion, Universal Childcare - $150 billion, Patriot Dollars - $4 billion and the Patient Protection and Affordable Health Care Act - $96 billion).  Together, these programs cost approximately 2.7% of the value of the U.S. economy (i.e., $400 billion is approximately 2.7% of $14.7 trillion – the value of the U.S. economy – GDP – in 2010).   The simplest method of financing these programs is to follow the advice of former Reagan Administration economic advisor/Harvard Economics Professor Martin Feldstein and former Director of the Office of Management and Budget under President Obama Peter Orszag and simply let the Bush Tax Cuts expire.   This would save approximately $368 billion dollars per year (see Paul Van de Water, Chye-Ching Huang, Chuck Marr, Chad Stone and Brian Highsmith, “Supercommittee Should Develop Balanced Package of Tax Increases and Spending Cuts,” September 27, 2011, p. 4 at www.cbpp.org).  To do accomplish this, Congress does not need to do anything.  Unless reenacted, the Bush Tax Cuts will expire on December 31, 2012.  Since the aforementioned programs have an annual cost of $400 billion, and allowing the Bush Tax Cuts to expire would produce $368 billion in additional revenue, we are only $32 billion “short” (i.e., $400 billion - $368 billion = $32 billion).  This remaining $32 billion would be more than paid for by instituting Ackerman and Alstott’s wealth tax. This tax would raise over $70 billion dollars per year in additional revenue (see previous discussion).   


If repealing the Bush Tax Cuts and instituting Ackerman and Alstott’s wealth tax seems “too hard” on the wealthy, consider the following: (1) the wealthy did very well, as did the economy as a whole, under the tax rates that would be in effect if the Bush Tax Cuts were allowed to expire (i.e., economic growth was greater under the higher tax rates of the Clinton Administration than during the Bush Administration); (2) over the 1980-2008 period 98% of the income gains went to the richest 10% of  American households (i.e., exactly those that gained, by far, the most under the Bush Tax Cuts – see http://www.stateofworkingamerica.org/pages/interactive#/?start=1980&end=2008); (3) the share of income going to the richest 1% of American income earners more than doubled between 1970 and 2010 (from about 7% to over 18% of  personal income); and (4) reducing the concentration of income and wealth at the top of the income distribution would likely improve the performance of our democracy by reducing the previously discussed “debilitating cycle” (i.e., where the increasingly concentration of income and wealth among the very rich increases the reliance of politicians on campaign contributions from the very rich which, in turn, leads politicians to enact policies which further advantage the very rich).   Even if all of the above policy and tax changes were adopted, by comparison to the other wealthy democracies of the world the U.S. Social Safety net would still be “weak” and taxes would still be “very low.”  It’s not “big government.”  


There are good reasons to think that the government budget is too small in a democracy.  First, consider the power of advertising.  Isn’t the purpose of the tremendous amount of advertising private companies buy to get you to spend money on their product rather on an alternative use of the same money (e.g., higher taxes to provide government benefits)?  If the private sector didn’t convince the public to spend more money on their products, and less on the government than if they didn’t advertise, private companies would be wasting a large portion of the money they spend on advertising.   


Second, there is ample evidence that the public does not have a good sense of not only the benefits other citizens derive from government programs, but of the value they themselves derive from government programs.  The percentage of people who (a) benefit from various government programs, and (b) claim in response to a government survey that they 'have not used a government social program’ are as follows: Home Mortgage Interest Deduction (a huge benefit for home owners) – 60%, Student Loans – 53.3%, Child and Dependent Tax Credit – 51.7%, Earned Income Tax Credit – 47.1%, Pell Grants – 43.1%, Medicare – 39.8% and Food Stamps – 25.4%.  Since they don’t receive a check in the mail for tax credits, citizens are particularly likely to forget the benefits they receive from tax credits (i.e., that their taxes are lower than they otherwise would be).  Additionally, government social programs are often stigmatized as “welfare.”  But many people benefit from such programs without realizing it.  


Third, many of those who most benefit from government programs vote the least frequently.  As discussed in both class and the readings, lower income citizens disproportionately benefit from government social welfare programs.  Additionally, lower income citizens vote less frequently than middle and upper income citizens.  So, wouldn’t the obvious political incentive be for politicians to provide lower government benefits to the poor than would be provided if the poor voted in proportion to their strength in the population?  Thus, private sector advertising, the lack of knowledge of the benefits of government programs and the lower voter participation of those more likely to benefit from government programs is likely to result in an underprovision of government benefits and a budget which is smaller than it would be if citizens had better information about the benefits government programs provide.  

A person’s political philosophy is likely to their willingness to spend money to reduce income inequality.  If you are political liberal, you probably viewed the programs I mentioned previously (the wage subsidy, universal child care, the Obama Health Care Plan and the Patriot Dollars campaign finance reform) favorably.  However, if you are liberal you have to face the question of how far you would go (i.e., how much of your money would you spend) to reduce income inequality?  If your political philosophy is conservative, your support for such programs is less certain.   If you are politically conservative, a reasonable question to ask is: What are you trying to “conserve”?   On the one hand you could answer that you were trying to conserve freedom and since taxes reduce a person’s freedom to spend their money as they please, then the government should be very small and taxes very low and, hence, you would probably not support the programs I mentioned previously.   Thus, you could say that while income inequality and insecurity in the United States are very high in relation to other wealthy democracies, the government should not reduce freedom in order to reduce income inequality and increase income security.  That’s certainly a philosophically defensible position.  It could be useful, however, to consider the following two questions: (1) Is freedom the only value that matters? (i.e., inequality, poverty, the performance of democracy – think back to the discussion of the “debilitating cycle” - don’t matter much); (2) Does a small government actually deliver the most freedom? Think back to the discussions of whether “net freedom” (i.e., subtracting the losses in freedom from the gains in freedom) would increase if: (1) the State of California sold off public beaches to private citizens and; (2) if taxes were reduced but fewer students could go to college and hence suffer a reduction in career choices later in life.  


A second answer to the question of what you are trying to conserve might be as follows: an America where the benefits of economic growth and technological change are widely shared, such as occurred between the end of World War II (1945) and the early 1970s (i.e., where economic growth was high and the share of income going to very high income groups decreased substantially).   If this is what you are trying to conserve, then the programs previously mentioned could be quite beneficial to your goal.     


In my experience, Americans typically don’t have much information about the policies/degree of inequality and living standards in the other wealthy democracies of the world.   That’s one of the major reasons I wrote this material.  Additionally, there are many stakeholders in our nation (e.g., the very wealthy, financial institutions, business interests such as health insurance and pharmaceutical companies, etc.) who have a strong interest in us not realizing that a greater government role doesn’t necessarily mean either less freedom or economic growth.  


None of this is to say that our current policies are “wrong” or that, in comparison to the other wealthy democracies of the world, the American conservative’s vision of a small government with low taxes, high levels of inequality and a low degree of economic security are “wrong.”  However, if we want to provide greater economic security and reduce income inequality in America, there are very viable options to both our current policies and conservative proposals.

Assignment 8 – HP, pages 1-72 due read by 3/19
Statistical Primer: As we discuss the material in the Hacker and Pierson book, I will present some statistical results which deal with topics discussed in the readings.  One of the sources for these materials is a recent book by political scientist Larry Bartels entitled, Unequal Democracy. On page 39, of his book Bartels uses the most basic statistical tool of modern quantitative political science: multiple regression.  His interest is in the impact of partisan political control of the federal government on the annual pre-tax growth rate of income for various income groups.  Let me mention that the vast majority of you will read statistical tables at some point in your career.  Within 5 years of graduation over 50% of political science majors work either for the government or private industry.  Additionally, statistical analysis is a very important part of legal analysis.  Thus, regardless of your likely career path, reading common statistical analysis is imperative.  I will first show you Bartel’s statistical results and then help you interpret the table.  So, don’t panic when you see the results immediately ahead!  It will be explained in both the discussion which follows and in class.
20th Percentile (Dependent  Variable: Growth Rate) 
Democratic President              2.32   (.80)

Oil Prices (lagged  % ∆)           -.032 (.016)

Labor Force Participation       4.66   (1.44)

Lagged Growth                         -.191 (.084)

Lagged 95th percentile              .395 (.151)

Linear Trend                          -12.84   (5.88)

Quadratic Trend                       9.68   (5.75)

Intercept                                    2.68  (1.26)

R - Squared                                 .41                      

Fortunately, reading tables such requires only a minimal amount of knowledge.  Let’s look at how to interpret the multiple regression above.   We are interested in concepts (e.g., partisan control of the federal government, change in oil prices, etc.) that can assume different values.  Concepts that can assume different values are called “variables.”  By contrast a concept that can only assume one value is a “constant” (i.e., always the same).  Since the growth rate of income for various income groups is not the same in every year it is a “variable” and not a “constant” (i.e., the income of the poorest 20% of American households may grow 2% one year and 5% the next year – thus different growth rates – hence, a “variable”).   Since Bartels is trying to explain why the rate of income growth changes from year-to-year, income growth is the “dependent” variable and the variables which he uses to “explain” change in the income growth rate are the “independent” variables (i.e., the variables going down the left-side of the results – whether or not we have a Democratic president, Oil prices, etc.).  Put another way, the score on the dependent variable (e.g., the rate of income growth) “depends” upon the score on the independent variable (e.g., whether or not there is a Democratic president) rather than the other way around.  The reason that several of the independent variables are “lagged” is that their effect is not immediate.  For example, one important reason to drink green tea and not to smoke is to avoid health problems you are likely to have many years in the future.  Thus, both green tea consumption and smoking are likely to have “lagged” effects on health.   

Now let me interpret the following statement Bartels makes: “the statistical results presented in above suggest that a 50% increase in the real price of oil (“real” means to adjust for inflation) would reduce the real income of families at every income level by a similar amount, about 1.5 percentage points.”  Looking next to “oil prices” in the results previously shown, you should see the following number: -.032.   First, this number is called a regression coefficient.  Second, notice that the number is “negative” (e.g., -.032 not .032).  Negative values tell us that as the score on the independent variable increases the score on the dependent variable decreases.  Applied to our situation this mean that as oil prices increases the income growth rate decreases.  Third, this regression coefficients (-.032) is the impact of a one unit increase in the independent variable on the dependent variable holding the level of all other independent variables constant (or “controlling” for the other independent variables - just keep reading – the next sentence will clear it up).   For example, the value -.032 to the right of “Oil prices” in the 20th percentile column should be interpreted as follows: if the party of the president remained the same (e.g., we had a Democratic president and he continued in office), the percent of workers participating in the labor force remained the same (e.g., 70% participated and this remained at 70%), the growth rate for last year was 2.5% and remained at 2.5%, the growth rate of families at the 95th percentile (i.e., the 5th richest family out of 100) was at 2.7% and continued at 2.7%, and both the trend variables remained the same (i.e., linear and quadratic – don’t worry about linear or quadratic – I’ll likely discuss them in class), then for each 1 percentage point increase in the real price of oil, the income growth rate of a household at the 20th percentile (i.e., out of a typical 100 households 19 households are poorer while 80 households are wealthier) would, on average, decrease by .032 (i.e., by approximately 3 hundredths of 1 percentage point).  We could also say that .032 represents the impact of oil prices on the growth rate of income for households at the 20th percentile “Controlling” for (or removing the effects of) the party of the president, labor force participation, last year’s growth rate and a linear and quadratic trend.   

Remember that Bartels statement concerned a 50% increase rather than a 1% increase in the price of oil.  If we multiple .032 times 50 we get approximately 1.5 which is how Bartels can say that a 50% increase in real oil prices would result in a 1.5% decrease in the income growth rate.  Since the figures in the row for oil prices are all around .03, multiplying by 50 will yield an answer of about 1.5% for each income group.  

One last item to mention: statistical significance.  Again, look at the -.032 immediately to the right of “Oil prices (lagged  % ∆).”  Notice that the number in the parentheses to the immediate right of -.032 is .016.  The number in the parenthesis (.016 in this example) is called the standard error.  Since -.032 has an absolute value (i.e., plus or minus) of at least twice .016 (-.032 is exactly twice the absolute value of .016) then there is less than a 5% chance that the impact of oil prices on the income growth could be -.032 when the change in oil prices actually has no impact on income growth rates.  Put another way, there is less than a 5% chance that we would have found that the lagged percent change in oil prices had an impact as great as -.032 on income growth when the lagged percent change in oil prices really has no impact at all on income growth (i.e., less than a 5% chance the “true” value of the regression coefficient is .000).   If the probability of “no effect” is 5%, or less, we can say that the results are “statistically significant.”  If -.032 had been less than twice the absolute size of it’s own standard error then we would have concluded that the results were either “statistically insignificant” or “not  statistically significant.”  For example, if the standard error of “Oil prices (lagged  % ∆)” had been .025 then the ratio would have been -1.28 (-.032/.025 = -1.28) and we would have concluded that the results were statistically insignificant (i.e., that the probability that oil prices lagged had no impact on income growth rates would be greater than 5% - perhaps 15% or 30%).   Hopefully that wasn’t all that rough!!  We’ll discuss this thoroughly in class.  A future quiz and the final exam may well contain results like those I discussed.  You would be asked to interpret the results.  
Remember the discussion under Assignment 1 concerning the themes of representation and fairness for quiz/exam questions as you read this week’s readings.
Potential Quiz Questions Include: From 1979 until the beginning of the Great Recession, what percentage of income gains went to the richest 1% of households?  During this period what percentage of income gains went to the richest one-tenth of one percent  (i.e., .1% - the richest 1 household in 1,000)?  What do liberals typically recommend to reduce income inequality?   What do conservatives typically recommend?  In terms of explaining the great increase in income inequality, what “suspect has largely escaped careful scrutiny”?  From 1974 to 2007, how much did the share of income going to the richest one-tenth of one percent (i.e., .1% - the richest 1 household in 1,000) increase?  If we include  government benefits and subtract taxes, how did household income grow over the 1979-2006 period for the following three groups: the poorest one-fifth of households, the middle one-fifth of households and the richest 1% of households?  If the richest 1% had received the average growth rate between 1979 and 2006, how would their income have changed?  Between 1979 and 2006, how did the increase in GDP per hour worked in the U.S. compare to Europe?  How does social mobility in the U.S. compare to Europe?  Over the 1983-2004 period, roughly what percentage of gains in wealth went to the poorest 80% of households?  What’s wrong with an education-based (i.e., skill-biased technological change) explanation for the huge increase in income inequality?   Over the past several decades, how do income gains for the richest 1% of U.S. households compare to other wealth democracies?  What are the “three elemental mistakes” in the assessment that government cannot do much to alter the pre-tax distribution of income?  If the effect of taxes on their income in 2000 had been what they were in 1970, how would the percentage of after-tax income going to the richest one-tenth of 1% (i.e., the richest household out of 1,000) have changed?  By approximately what percentage did the impact of government taxes and benefits on inequality change over the 1980-2003 period?  According to Hacker and Pierson, what is the relationship between the strength of a nation’s unions and the increase in the share of income going to the richest 1%?   What is the “harsh mathematical reality” between the number of unions and the cost per member needed to organize the nonunion sector?  How accurate is the view that unionization rates are lower in the U.S. than Canada because Americans are less desiring of joining a union than Canadians?  How did the pay of CEOs relative to the average worker change from 1965 to 2007?  How had regulatory restriction on banking changed by the late 1990s?    
Assignment 9 – HP, pages 73-136 due read by 4/4
Remember the discussion under Assignment 1 concerning the themes of representation and fairness for quiz/exam questions as you read this week’s readings.
Potential Quiz Questions Include: What is the “tension” between democracy and the free market economy?  According to Alexis De Tocqueville, what would be the effect of universal suffrage (i.e., voting)?  According to Hacker and Pierson, has De Tocqueville’s prediction of the effects of universal suffrage occurred in the United States?   Why would the Founders have been interested in a parliamentary system of government? What was the philosophy of the New Deal?  According to the conventional wisdom, what was the political strategy of Richard Nixon?  According to Hacker and Pierson, what was Nixon’s actual economic strategy to win voters?  How does media coverage of candidates policy proposals compare to coverage of the “horserace” aspects of an election?  What does the public’s view of the budgetary importance of foreign aid tell us?   What did Bartel’s find concerning the relationship between public opinion and senator’s votes?  What did Gilens find concerning the relationship between public opinion and the probability of enacting a law?  Are organized interests more concerned with elections or policy?   According to David Vogel, in terms of government policy, how did business fare over the 1969-1972 period?  How did Great Society era regulations differ from previous regulation?  How did business respond to Great Society era regulation?   How did the increasing costs of campaigns affect the “balance of power” between business and labor?  How did the change in the relative balance of power between business and labor affect the policies that Democratic candidates could support?  In terms of public policy, did business fare better under Nixon or Carter?   What two factors reduced the effectiveness of union organization drives?  How did capital gains taxes fare under the combination of a Democratic President (Jimmy Carter) and a Democratic Congress?      
Assignment 10 – HP, pages 137-193 due read by 4/9
Remember the discussion under Assignment 1 concerning the themes of representation and fairness for quiz/exam questions as you read this week’s readings.
Potential Quiz Questions Include: What did the example of the American Legion and the GI Bill demonstrate?  Over the past several decades, have unionization drives done better in the private or public sectors?  In terms of membership, how do the newer interest groups in American politics differ from labor unions?  How has postmaterialism affected lobbying for the economic interests of middle and low-income households?  An evangelical voter with a $50,000 income is as likely to be a Republican as a nonevangelical voter with an income of roughly how much?  In 2008 approximately what percentage of the voters had incomes over $100,000?  Compared to the average voter, how supportive of economic redistribution are the wealthy?  According to Hacker and Pierson, why do Americans appear to tolerate a greater degree of income inequality than citizens in other nations?  How has the internet affected the information gap between citizens?   In covering the Bush Tax Cuts, did USA Today focus much attention on the distribution of the benefits over income classes?  In looking at senators, how has partisan ideological polarization changed over time (i.e., who has “moved” how much)?   How does the degree of polarization differ between elites and voters within each political party?   Why is the election of 1982 so pivotal in Hacker and Pierson’s analysis?   In the 1982 election how did the level of spending by the Republican National House and Senate Committees compare to their Democratic counterparts?    Why was much of the Democratic funding in 1982 “wasted”?  In terms of the share of the presidential vote, what did Bartel’s find concerning the effect of the difference in campaign spending by the two parties?  From the mid-1970s to the mid-1980s, how much did campaign spending in House races featuring an incumbent change?  Over this same period how did campaign spending by business correspond to campaign spending by labor?  By 1986, what was the spending ratio of Republican to Democratic campaign committees?   Over this period, what factor most helped Democrats overcome the Republican spending advantage in congressional campaigns?  When the Republicans were the majority party in the U.S. Senate (1981-1986) what was the ratio of Republican to Democratic Senate Committee spending?  What two groups did Democrats utilize to try to reduce the Republican’s campaign spending advantage? Qualitatively, how did business contributions to the Republicans differ from contributions to the Democrats?  On economic issues, which party was more internally divided?   What was economist Alfred Kahn’s view of the extent of deregulation?  What was Eisenhower’s view of repealing the New Deal?  What is the modern conservatives’ view of Eisenhower’s sentiments concerning repealing the New Deal?  According to Hacker and Pierson, what was the “watershed” event in making tax cutting, rather than deficit reduction, the central goal of Republican economic policy? 
Assignment 11 –  The Term Paper Outline due on 4/16.  Assignment 11 is worth 30 points.  Late outlines lose substantial points.  While you can email draft outlines,  Don’t email your final outline.  I need a “hard copy.”  You will lose more points for emailing the final outline than for turning in a “hard copy” late. 
A sample outline is provided below. Remember that the term paper is due in two weeks.  Remember, you cannot use any of the following issues: the estate tax, free trade (e.g., NAFTA or CAFTA), gay marriage (or domestic partners legislation, etc.) or immigration (e.g., guest worker program, etc.) 

As you remember from Assignment 6, the term paper is to examine how the parties differ on the two issues you select (one economic and one noneconomic) and the strategies and politics they employ to advance their goals.   Write a well-organized and integrated paper that addresses both of your issues from the standpoint of the party in the electorate and the party in the government.  Write the paper using a compare and contrast approach within each of the two topical headings previously mentioned (i.e., party in the electorate and party in the government - just keep reading it will make sense).  Thus, compare and contrast how the Democratic and Republican parties appeal to the party in the electorate on the economic issue you select with how each party appeals to the electorate on the noneconomic issue you select.  Do not write two papers.  That is, do not discuss your noneconomic issue in it’s entirety and then discuss your economic issue in it’s entirely.  You should go back and forth between the economic and noneconomic issues as you compare how each political party handles each type of issue.   For example, compare how the Republican Party appeals to the electorate on economic issues with how both the Republican Party appeals to the electorate on noneconomic issues as well as how the Democratic party appeals to the electorate on both types of issues.  Do the same with the party in the government.

Concerning the party in the electorate write a coherent essay that addresses the following: Does each party take the position you would expect? Thus, is the Democratic position on the issue more liberal than the Republican position on the each issue?  (Remember the definitions for liberal and conservative used in class: liberal – greater concern with reducing economic inequality and maintaining economic security/greater support for the noneconomic freedom to differ; conservative – greater individual free choice with less commitment to equality in economics/less commitment to the freedom to differ in noneconomics.)  

Make sure you read the next several paragraphs very, very closely.  You will lose many points on both Assignment 11 and the term paper itself for failing to adequately use the material covered over the four paragraphs (e.g., easy vs. hard issues, particularized or generalized benefits, how each party “frames” each issue, issue ownership and who, by socioeconomic level, each party is appealing by the position they take on each issue and how they “frame” their position.   
How clear is each party’s stance on each issue?  How much difference do you find between the parties on each issue?  How does both the clarity of partisan issues stances and the difference between the parties you find compare with what you have read (i.e., Hershey and Bartels) and heard in class lectures?  How would each of your issues fit the “easy” or “hard” distinction made in class?  Easy issues may be understood at the “gut” level while “hard” issues require knowledge of subtle differences in options, a coherent structure of political beliefs and the ability to link policy means to ends.  An “easy” issues position is easier for voters to understand than a “hard” issue position.  For example, saying that abortion is morally wrong is an “easy” position.  Trying to explain to voters how, if abortion were made illegal, you might penalize women who had abortions (e.g., Should they be executed? - including attorney’s fees, court costs, etc. capital punishment is even more expensive than life imprisonment) and what the repercussions might be (increased crime as the enforcement of other offenses was reduced in order to prosecute women who had abortions) would be a “harder” issue position to explain to voters than simply saying abortion is murder.  You need to explain why you would classify a particular party position as either “easy” or “hard.”  Thus, don’t just use the concepts.  

Closely related to the “easy” versus “hard” distinction is whether the 
benefits from the legislation are particularized or general.  If the legislation has particularized benefits the beneficiaries typically know who they are (e.g., the wealthy heirs who would pay the estate tax know who they are and roughly how much they would benefit from repeal).  Alternatively, if the legislation promises more generalized benefits (e.g., lives saved from cleaner air), the beneficiaries are less likely to know who they are (i.e., those who will not get lung cancer if the air were less polluted do not know this).  Typically, more generalized benefits, especially if they occur at some future time point, are better thought of as “hard” issues.  Politically, such positions are typically more difficult for a party to translate into intense mass support than easy issue positions.   

How does each party “frame” each of the issues you select?  For example, if you select national health insurance, does one party focus attention on the notion that individuals are losing health insurance through no fault of their own and, hence, government should insure the entire population? Conversely, does the other party suggest that the lack of health insurance is the fault of those who are not insured and/or see the issue primarily as a question of the size and scope of government? How do the frames each party uses fit with the type of issues that each party typically “owns” (i.e., is perceived by the public as being more competent on than the opposition party).  Republicans are perceived as better able to handle foreign policy and defense issues, reducing taxes, controlling inflation, reducing government spending, reducing crime and promoting moral values than Democrats.  Conversely, Democrats are perceived as better able to handle social welfare policies and/or “fairness” issues such as protecting Social Security, improving health care, helping the poor, supporting public schools, reducing unemployment, solving farm problems, and protecting the environment than Republicans.  Thus, does the party frame the issue as being one of the issues they “own”?  For example, the Democrats might frame health care as a fairness issue and the Republicans might frame it terms of reducing government spending.    

To which socioeconomic groups does each party appeal on economic issues?  To which socioeconomic groups does each party appeal on noneconomic issues?  Remember from class discussion that a person’s socioeconomic status is a compilation of their level of educational attainment, their income and the status of the occupation they perform.   Additionally, remember the “basic” relationships between a person’s socioeconomic status and their opinions: (1) as a person’s income increases their support for liberal positions on economic issues (e.g., national health insurance, having the wealthy shoulder a greater share of the tax burden, etc.) typically decreases; (2) as a person’s educational attainment increases their support for liberal positions on noneconomic issues (greater tolerance for difference of opinion, lifestyle, etc.) typically increases. 

In terms of the party in the government, your paper should address the following: how large is the policy difference between the two parties in the government?  For example, are the Republican and Democratic positions in Congress very different?  How cohesive is each party in the government?  Thus, do most all Republicans in Congress vote the same way and do most all Democrats vote in opposition to the Republicans?  There are several possibilities: (1) a large difference in the positions the parties take with each party being very cohesive; (2) a large difference in the positions the parties take with each party not being very cohesive; (3) a small difference in the positions the parties take but each party being very cohesive; or (4) a small difference in the positions the parties take and each party not being very cohesive.   

Congress is not the only branch of the government.  Depending upon the issues, presidential action/speeches may provide a good measure of how your issues are being handled by the party in the government.  Additionally, Supreme Court cases may highlight action by the party in the government.   To help you assess the impact of partisanship on Supreme Court decisions, let me mention that all current members of the Supreme Court except Stephen Breyer and Ruth Bader Ginsburg were appointed by Republican presidents.     

The actions of any branch of the federal government may have both immediate and long-term repercussions.  For example, what happened after the congressional vote you examined occurred?  Did it energize the losing side to try and reverse the outcome?

Interest groups and financial backers can also shed important light on how both the party in the electorate and the party in the government handle particular issues.  Try to find a linkage between financial contributors, interest groups and the political parties (in addition to newspaper coverage see www.opensecrets.org).  Which interest groups and financial backers is each party aligned with on each issue?  Among both elite supporters (e.g., interest groups and financial backers) and the electorate, does each party seem to be catering to the same groups on both issues?  If not, what are the differences?  Are the parties catering to the same elite and mass groups that Hershey and class lectures would suggest?  If not, why?


Clear writing is the sign of clear thinking.  In my experience, it is very helpful to have a detailed outline when writing a paper.  Toward that end, the outline below structures a paper dealing with how the two major political parties handle two important issues: the proposed repeal of the estate tax and gay marriage.  This pair of issues (CAFTA and Immigration) meets the criteria that one issue be economic and the other issue be noneconomic.  The following outline was done by a student in this course.  It will give you a good sense of the scope and detail of the outline you are required to submit.  Keep the following in mind: 1- Do NOT advocate a particular policy or make “value judgments” -  you’re an analyst, NOT an advocate; 2 - Do NOT make statements that imply there is only one correct viewpoint (e.g., do NOT say something such as “any rational educated mind …”); and 3 - Do NOT use the first person or offer opinions (i.e., do NOT say “I think that …” or “I feel that”).

Central American Free Trade Agreement & Immigration Reform:

Appealing to the Party in the Electorate and Behavior of the Party in Government
I. Why CAFTA and Immigration Reform are Important to Study

A. Central American Free Trade Agreement (CAFTA)

1. Free trade pacts such as CAFTA are controversial with labor unions arguing against the lack of labor regulations and failure to address equal worker protections in foreign countries. Advocates of free trade such as business and high technology interest groups believe free trade will benefit the U.S. economy.

a. Labor unions disagree with free trade as they are witnessing their demise through unequal labor regulations and economic globalization (David Ignatius, Washington Post).

b. Business lobbyists allege expansion of the U.S. economy will occur with CAFTA as new agreements reduce trade barriers and open the U.S. economy to greater competition from poorer countries (Edmund L. Andrews, New York Times).

1. Even though analysts believe CAFTA will have little effect upon the U.S. economy in relation to current trade with poorer Latin American countries (Edmund L. Andrews, New York Times).

B. Immigration Reform

1. Comprehensive immigration reform is in the national spotlight as each political party lays divided on this multifaceted issue.

a. An array of issues rise from the immigration debate including: border safety, illegal immigration, exploitation of undocumented workers, and a controversial guest worker plan.

II. How the Party/Candidates Present CAFTA and Immigration Reform to the Party in the Electorate

A. Central American Free Trade Agreement (CAFTA)

1. Democratic Party – Presented in their 2004 Party Platform, Democrats believe in free trade agreements with regulations to protect both American and foreign interest (Democrats.org). 

a. The Democratic Party delicately touches on all aspects of free trade such as protecting factory jobs and conversely supporting incentives to expand high technology production into foreign countries. All of which provide a confusing image on how Democrats support free trade but not CAFTA (Democrats.org).

1. With support from labor unions, many Democrats are now presenting themselves as anti-trade and protectionist of American workers (Molly Hennessy-Fiske, Los Angeles Times).

2. Technology corporations slightly contribute more money to the Democratic Party, yet are powerful advocates of free trade and specifically CAFTA. Thus certain Democrats support absolute free trade in contradiction to their party platform (Courtney Mabeus, Opensecrets.org).

3. Senators Hillary Clinton and Barack Obama both voted against CAFTA and are campaigning on “fair trade” and stronger U.S. labor protections (HillaryClinton.com; BarackObama.com). 

4. For the Democrats presenting this issue is “hard” as it involves an attempt in satisfying low-wage blue-collar and high-tech white-collar voters with only one position that may appear confusing (www.cbpp.org). 

2. Republican Party – Equally as their counterparts, Republicans also present in their 2004 Party Platform support in free trade agreements including regulations to protect American interest (GOP.com). 

a. With the election of President Bush in 2000, the Republican base has generally followed the Bush Administration in supporting free trade agreements as one they “own.” However, not all Republicans agree with CAFTA and thus cause some confusion as to how supportive the party base is. 

1. The Republican Party presents its support for CAFTA with that of business lobbyists who generally favor CAFTA, except within few sectors of the textile industry located in the stronghold of the Republican South (Edmund L. Andrews, New York Times).

2. Recognizing a small opposition against CAFTA from certain business lobbyist, few Republicans have spoken against free trade in support of their constituents while at the same time voting along party lines in support of CAFTA (Edmund L. Andrews, New York Times).

3. Both Senator John McCain and the National Republican Party are campaigning for a continued reduction in trade barriers arguing that it will boost the U.S. economy (JohnMcCain.com; GOP.com). 

4. For the Republican Party this is an “easy” issue in presenting as a majority of their base strongly supports business deregulation and economic expansion (www.epi.org).  

B. Immigration Reform

1. Democratic Party – Addressed on their website as part of the Democratic Agenda, the Democratic Party presents itself as pro-immigration but also protectionist of U.S. workers and their wages (Democrats.org) 

a. The Democratic Party has historically been known to represent immigrant rights and pro-immigration reform as one they “own.” Yet recently this issue has created some divisions in the party as both demographics of the electorate and expectations of the party are shifting.

1. With a growing number of Hispanic voters identifying themselves as Democrats, party expectations are shifting and thus the party strongly presents itself as pro-immigration to appeal the Hispanic electorate (E.J. Dionne Jr., Washington Post).

2. On the other hand, Democrats representing constituents affected by the influx of undocumented workers present themselves as pro-immigration with a focus on US labor protection and wages (Richard W. Stevenson and Steven Greenhouse, New York Times).

3. Both Senators Hillary Clinton and Barack Obama support immigration reform, securing the border, and adding labor protections to U.S. workers (HillaryClinton.com; BarackObama.com).

4. Presenting this issue to the electorate is “hard” for the Democratic Party as they must appeal to both Democratic labor protection supporters as well as a growing pro-immigration Hispanic electorate.   

2. Republican Party – Only found in their 2004 Party Platform, the Republican Party mirrors that of their counterparts in presenting themselves supportive of immigration reform but with a strong appeal for border security (GOP.com).

a. The Republican Party presents a confusing image on what type of immigration reform it supports as it appeals to different sectors of the party base.

1. Moderate and business oriented Republicans present themselves as pro-immigration reform as they appeal to supporters for U.S. economy expansion (Richard W. Stevenson and Steven Greenhouse, New York Times).

2. Conservative Republican Representatives argue against immigration reform with nationalist and anti-immigrant rhetoric (E.J. Dionne Jr., Washington Post).

3. Senator John McCain presents the issue with an emphasis on border security appealing to Conservative Republicans, and later minutely mentions the business oriented aspect of pro-immigration reform (JohnMcCain.com). 

4. For the Republican Party presenting this issue is “hard” as their conservative electorate seeks border security and their diminishing Hispanic electorate is pro-immigration (E.J. Dionne Jr., Washington Post).  

III. Behavior of the Party in the Government

A. Central American Free Trade Agreement (CAFTA)

1. Congress passed CAFTA on July 28, 2005

a. 10 Democratic Senators and 15 Representatives voted for CAFTA.

1. Democratic Senators and Representatives voting in support of CAFTA came from either states strongly reelecting President Bush in 2004 or from states where high-tech companies are based such as Washington, Oregon and California (H.R. 3045 Vote Summary, Senate.gov; House.gov). 

b. 11 Republican Senators and 27 Representatives voted against CAFTA.

1. Republican Congressmen voting against CAFTA came from either low population states such as Idaho or states in which job losses have been associated with free trade, such as Pennsylvania (H.R. 3045 Vote Summary, Senate.gov; House.gov).

c. Both Democratic and Republican Party Unity has not been perfect but relatively unified to the number of Legislators who voter along party lines.

2.  President Bush signed CAFTA into law on August 2, 2005.

a. In an effort to achieve a free trade agreement President Bush was granted by Congress the authority to negotiate free trade agreements without Congressional amendments during vote (Alison Mitchell, New York Times).

1. President Bush faced opposition from both moderate Republican and Democratic legislators as negotiations in free trade were limited to those within the Bush Administration and thus delaying the passing of CAFTA (www.cbpp.org).

B. Immigration Reform

1. Congress has recently failed to pass comprehensive immigration reform that would address a variety of related issues into one bill. 

a. Secure Fence Act of 2006, an amendment to the Illegal Immigration Reform and Immigrant Responsibility Act of 1996, increased border security construction. 

1. 6 Republican Representatives and 1 Republican Senator voted against the Secure Fence Act of 2006 (H.R. 6061 Vote Summary, House.gov; Senate.gov). 

a. Republicans voting against the bill generally represent states in which there is a high Hispanic pro-immigration population or a state won by Senator John Kerry in the 2004 Presidential Election.

2.   131 Democratic Representatives and 17 Democratic Senator voted against the Secure Fence Act of 2006 (H.R. 6061 Vote Summary, House.gov; Senate.gov).

a. Democrats voting against the bill generally represent states in which there is a high Hispanic pro-immigration population or a state won by Senator John Kerry in the 2004 Presidential Election.

b. Republican Party unity has been very high on issues relating to immigration. While the Democratic Party faces a large disunity between both the House and Senate.

2. President Bush came into office in both terms promising comprehensive immigration reform that would include: border security, labor protections, and a guest worker plan (29 December 2004, New York Times).

a. President Bush faces opposition from both political parties as a guest worker plan does not appeal well to conservative Republicans and pro-labor protection Democrats (Richard W. Stevenson and Steven Greenhouse, New York Times).

b. Unable to pass a comprehensive immigration reform bill, President Bush’s performance in government has suffered and appears to be a “lame duck” President (29 December 2004, New York Times).

IV. What these Two Issues Tell Us About How Each Party Appeals to Voters

A. Democratic Party

1. Central American Free Trade Agreement (CAFTA)

a. The Democratic Party attempts to optimize its supporting base by appealing to both lower social-economic and high socio-economic voters concerned about free trade. 

1. Lower class voters favor Democrats with issues of free trade since the party has historically been associated with labor unions who seek to protect blue-collar jobs from exportation through economic globalization (Elizabeth Becker, New York Times).

2. Democrats appeal to upper class voters on issues of free trade by including topics of environmental protections and expansion of the high-tech industry located in Democratic states (Democratic Party Platform 2004, Democrats.org). 

3. For many Democratic voters the issue of CAFTA and free trade is a “hard” issue as it causes some internal conflicts between loyal blue-collar Democrats and the elite high-tech and economically conservative Democrats.

2. Immigration Reform

a. The Democratic Party attempts to optimize its supporting base by appealing to both Hispanic pro-immigration and pro-labor protection voters.  

1. Hispanic Democratic voters are growing in number as the party overtly embraces comprehensive pro-immigration reform (E.J. Dionne Jr., Washington Post).

2. Pro-labor protection voters grow wary of pro-immigration reform supported by Democrats as more low-wage jobs are given to immigrant workers (Richard W. Stevenson and Steven Greenhouse, New York Times).

3. For Democratic voters the issue of immigration reform is “hard” as it is favored by Hispanic voters and questioned by low-wage blue-collar Democrats.

B. Republican Party 

1. Central American Free Trade Agreement (CAFTA)

a. The Republican Party maintains the message of pursing free trade as it specifically appeals to both business interest groups and the elite while in the same moment not attracting any new lower socio-economic voters. 

1. The Republican position on free trade and CAFTA appeals to business interest groups, specifically those wishing to expand production across borders and increase profits as deregulation of foreign trade benefits the wealthy voting bloc (Edmund L. Andrews, New York Times).

2. Lower socio-economic Republican voters do not have a strong position on free trade and CAFTA as they do not have both wealth and specific interest in expanding business and production to foreign markets.

3. For voters appealing to the Republican Party the issue of free trade and CAFTA will only matter if there is direct interest in supporting free trade. Thus this issue for the Republican Party is “easy” to appeal to as it only concerns the wealthy pro-business voting bloc.    

2. Immigration Reform

a. The Republican Party has dramatically shifted its open support of a guest worker/immigration reform favored by business Republicans, to that of border security which is attracting many conservative voters.

1. Conservative and lower socio-economic voters are attracted more to border security and anti-immigration sentiment expressed by members of the Republican Party (David Brooks, New York Times).

2. Moderate and business Republican voters support President Bush’s guest worker plan and lean towards pro-immigration reform despite the internal rift it is causing amongst the party members. 

3. For Republican voters appealing to the party platform, this issue is “hard” as different segments of the party base support and oppose pro-immigration reform.   
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Potential Quiz Questions Include: How did the typical family’s income change between 2000 and 2007 (i.e., the end of the “Bush Boom”)?  According to Hacker and Pierson, periods of political renewal require what three simultaneous conditions?  At the beginning of the Obama Administration, how many of the aforementioned three conditions existed?  Did Obama see our problems as primarily economic or political?  Whom did the appointments of Timothy Geithner and Lawrence Summers reassure?  According to Republican strategist William Kristol, if Democrats control both the White House and Congress, who will get the blame if there is inaction? What is Senate Minority Leader Mitch McConnell’s view of bipartisan voting (i.e., having some Republicans vote in favor of Obama’s proposals)?  How has the rate of rightward movement in the Republican Party changed over the past two election cycles?  What did Republican congressman’s votes on the Bush Administration’s TARP program reveal about the generational split in the Republican Party on economic issues?  What constitutional amendment does Senator Jim DeMint (R-South Carolina) want to repeal?  What is former Republican advisor Bruce Bartlett’s view of the Republican’s fiscal policy?  If the U.S. used a parliamentary system, would Obama have been helped or hindered?  How did the resources of the Americans for Financial Reform (groups supporting tougher financial regulation) compare with those of commercial banks?  How did the Chamber of Commerce’s lobbying expenditures during the first quarter of 2009 compare with past history? Politically, how did changes in the Stimulus Package (e.g., reducing it’s size, greater reliance on tax cuts, etc.) affect the political fortunes of the Democratic Party?  In the health care debate (as well other policy debates) did the path of winning over undecided senators go through organized interests or voters?  Demographically and politically, how representative is the Tea Party of the average American?  Given the realities of Winner-Take-All politics, how do Hacker and Pierson assess President Obama’s early record?  What was Senate Minority Leader Mitch McConnell’s assessment of the desirability of having a bipartisan health care plan?  What current feature of American Government do Hacker and Pierson repeatedly stress the weakness of toward the end of their book?  How optimistic are Hacker and Pierson that labor laws can be changed to facilitate union organizing?    
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Introduction

The purpose of this composition is to explore how each political party, Democratic and Republican, tangles with an economic issue such as the Central American Free Trade Agreement (CAFTA), and a relatively noneconomic issue such as immigration reform. Within this examination the focus will be on how both Democrats and Republicans present their position on each issue with their party in the electorate, as well as their party behavior in the government. Concerning the party in the electorate, the extended focus of each political party will observe their expected positions, clarity and differences between each party on the issues, whether the issues are easy or hard in presenting, whether these issues are general or particularized for the electorate, how each party frames the issues, ownership of the issues, and how each issue is appealed by the parties towards a specific socioeconomic group. The second half of this composition will concentrate on the behavior of each party in government concerning the issues. Specifically, how large the policy differences are between the parties in government, handling of the issues by each party in various parts of government, on top of what are the immediate and long-term effects rising from actions taken by each party in government. After both the party in the electorate and behavior in government have been covered, a final segment to this composition will touch base on what each issue says about the parties appealing to voters in general, specific segments of the electorate, interest groups, and financial backers. Concluding this composition will combine the lessons learned with a personal reflection. For now, a brief reasoning to studying each issue will begin the course for this composition.

Why CAFTA and Immigration Reform are Important to Study

Both the Central American Free Trade Agreement (CAFTA) and immigration reform are important issues to study because they are creating an array of divisions within the party electorate and the party in government. As an economic issue, CAFTA segregates the party in the electorate with labor unions arguing against the lack of labor regulations and failure to address equal worker protections in foreign countries. While on the other hand, advocates of CAFTA and free trade such as business and high technology interest groups suggest free trade will benefit the U.S economy. Noted by David Ignatius of the Washington Post (2007) labor unions disagree with free trade as they witness their demise through domestic job losses and continual economic globalization. Covering an opposing view, Edmund L. (2005) exposes the perspective of business lobbyists alleging expansion of the U.S. economy will occur through new free trade agreements, even though analysts believe CAFTA will have little effect upon the economy in relation to current trade with Latin America. This distinction within the electorate is recognized by the political parties and thus allows there to be focus on how each party positions itself around the economic issue.

In regards to the noneconomic issue of comprehensive immigration reform, each political party lies divided on this multifaceted issue. Party lines within the electorate and government can be either blurred or sharpened depending on the sub-issues that include: border safety, illegal immigration, exploitation of undocumented workers, and a controversial guest worker plan. With major demographic and economic shifts occurring throughout the United States, immigration reform heavily influences the positioning taken by Democrats and Republicans in both party in the electorate and the party in government. Therefore, applying this complex noneconomic issue to the composition will illustrate the mutual uncertainty felt by Democratic and Republican electorates and bureaucrats. 

How Party/Candidate Present CAFTA and
Immigration Reform to the Party in the Electorate

CAFTA

Commencing with the economic issue of CAFTA both Democratic and Republican parties appeal to the electorate in similar fashion. Proclaimed in the 2004 Democratic National Platform for America, Democrats take the predetermined position of supporting free trade agreements similar to CAFTA (Democrats.org). Issues of free trade and CAFTA are also highlighted on the Democratic Party website with connotations of protecting American factory jobs and simultaneously supporting incentives that will expand high technology production abroad (Democrats.org). All of which provide a confusing image on how Democrats openly support free trade but not CAFTA. Democratic positioning around CAFTA and free trade does follow liberal expectations in maintaining economic security through protectionist policies. However, support of free trade and incentives exporting high technology production into foreign industry is contrary to the common liberal definition. In fact, it is a position that is closely aligned with conservative and Republican Party policies. 
Marked by Molly Hennessy-Finke of the Los Angeles Times (2007) one reason for the unclear position taken by Democrats is that strong labor union support in the electorate has driven Democratic Party members to portray themselves as anti-free trade and protectionist of American workers. In contrast, Courtney Maybes from Opensecrets.org (2005) notes members of the Democratic Party arguing in favor of conservative free trade policies akin to CAFTA, do so in response of having high technology corporations making significant campaign and party contributions. Taking this jumble even further, with the current election year both Senators Hilary Clinton and Barrack Obama voted against CAFTA and are campaigning on “fair trade,” including stronger U.S. labor protections (HilaryClinton.com; BarackObama.com). While the Democratic Party definition of “fair trade” mirrors that of free trade, both candidates fail to differentiate between the two terms (Democrats.org).  Discussed at the Center for Budget and Policy Priorities’ website, for the Democrats framing and presenting this issue to electorate is “hard” as it involves an attempt in satisfying low wage blue-collar and high tech white-collar voters with only one position that may appear confusing (www.cbpp.org). Provided that Democrats have difficulty in presenting their position, it is evident they do not “own” the issue as separate blocs of the electorate are split in supporting and opposing CAFTA. Understanding how damaging this can be is demonstrated by successful Republican positioning around CAFTA.

Equally as their counterparts, Republicans present in their 2004 Republican Party Platform support in free trade agreements including regulations to protect American interest (GOP.com). With the election of President Bush in 2000, the Republican electorate has generally followed the Bush Administration in supporting free trade agreements as one they “own.” However, not all Republicans agree with CAFTA and thus cause minor misunderstandings as to how supportive the party base really is. Meeting the expectations of conservative policies, the Republican Party as discussed by Andrews (2005) present its support of free trade with that of business lobbyists who generally favor CAFTA with the exception within few sectors of the textile industry located in the stronghold Republican South. While Republican opposition to CAFTA is evident, Andrews (2005) recognizes that it is a mere demonstration for their constituents followed by a loyal party vote. The difference between Republicans and Democrats is not much as they both support free trade. However, as found on the party website Republicans tend to dismiss protectionist regulations on free trade in further advocating their conservative economic outlook (GOP.com). Unlike the Democrats, the issue is “easy” for the Republicans as they are able to present their position clearly to a particularized business oriented bloc of the electorate. In addition, Senator John McCain is campaigning for a continued reduction in trade barriers arguing that it will boost the U.S. economy (JohnMcCain.com). Opposite of their Democratic counterparts, all angles of the Republican Party nearly present themselves on one clear position in support of CAFTA. This enables segments of the electorate access to consistent information and not like the Democrats inconsistent “fair” and free trade bewilderment. However, in this next segment both the Democratic and Republican Party will show equal amounts of anxiety when appealing to the electorate.

Immigration Reform
Continuing on to the noneconomic issue of immigration reform both the Democrats and Republicans show signs of distress as their corresponding electorate shifts its position around the issue. Similar to CAFTA, the Democratic Party provides an indistinct objective on their positioning with immigration reform. Addressed on the party website Democrats appeal to the electorate with pro-immigration policies and yet also mention protectionist rhetoric concerning blue-collar American workers (Democrats.org). Historically, the Democratic Party presents itself along the expectations of a liberal agenda for greater noneconomic freedom. Democrats are known to be supportive of immigrant rights and typically have brought forward immigration reform aimed at benefiting certain blocs of the electorate. Yet recently the issue of immigration reform is creating divisions in the party as both demographics of the electorate and expectations of the party are shifting. Highlighted by E.J. Dionne Jr. of the Washington Post (2007) a growing number of Hispanic voters identify themselves as Democrats with hopes of furthering a pro-immigration agenda in the party. Nevertheless, Richard W. Stevenson and Steven Greenhouse of the New York Times (2004) observe a growing number of Democratic Representatives following the appeals of their constituents affected by the influx of undocumented workers. Such Democrats contradict traditional party lines as they present themselves to the electorate with protectionist and anti-immigrant lip service. 
In having this division within the electorate the Democratic Party has a “hard” time in presenting its position around immigration reform. Keeping their constituents pleased is a challenge for Democrats as they appeal to White blue-collar workers threatened by immigrant labor and equally appealing to a growing pro-immigrant Hispanic electorate. It appears that Democrats used to “own” immigration reform until recently with a growing anti-immigrant Democratic voting bloc. Tangling with a method in framing this complex issue, both Senators Hilary Clinton and Barrack Osama are campaigning in support of immigration reform along with border security and labor protection for U.S. workers (HilaryClinton.com; BarackObama.com). Similar to CAFTA and free trade, the Democratic Party fails to place one unifying position around immigration reform. As will be discussed shortly, the Republican Party performs far better in presenting itself around immigration reform to the electorate.

As for the Republican Party the noneconomic issue of immigration reform is addressed in their 2004 Republican Platform as one that will solely focus on border security (GOP.com). While there are economic ties to immigration reform, the Republican Party has chosen to present border security and anti-illegal immigration policies prior to any other sub-issues, including President Bush’s guest worker plan. Covered again by Stevenson and Greenhouse (2004) few Republicans are loudly advocating for pro-immigration reform. Despite having the party shift towards anti-immigrant policies, business oriented Republicans remain attractive to the party as they seek conservative policies for U.S. economic expansion. Even then Dionne Jr. (2007) takes note that conservative Republican Representatives have gained the upper hand in arguing against pro-immigration reform. Dionne Jr. (2007) goes further into speculating how the immense presence of anti-immigrant rhetoric now found in the party is scaring away a large Hispanic electorate. This is troubling for the Republican Party as arguing anti-immigration reform appeals to conservative electorates yet diminishes the crucial support from Hispanic voters. Noticing these divisions between business and conservative Republicans, Senator John McCain is campaigning with an emphasis on border security followed by a touch of pro-business immigration reform (JohnMcCain.com).  Along the same lines of their Democratic counterparts, Republicans face similar challenges in appealing to a divided electorate with only one position. The issues becomes “hard” in presenting when one bloc of the electorate considers the issue with personal business importance while another bloc holds generalized anti-immigrant sentiment. Recapping how each political party appeals to the electorate will allow an effective analysis for how the parties behave in government.

What is understood from this comparison of economic and noneconomic issue handling by Democrats and Republicans, is that each party must frame and present itself around the issue with a broad and often contradictory appeal towards the electorate. Democrats appear puzzled when positioning themselves around CAFTA and free trade, while holding a semi-firm stance in support of immigration reform. Republicans display a unified front when presenting their position on CAFTA and free trade. Yet, seem to be at a lost when trying to frame immigration reform for their moderate and conservative electorate. While both parties may present ambiguous positions towards the electorate, hopeful expectations are set for a clear and concise behavior in government.  In transitioning towards the next phase of this composition, to be determined are how the parties behavior in government is similar or dissimilar to the party in the electorate.  

Behavior of the Party in the Government

Following what appeals to the party in the electorate, party behavior of both Democrats and Republicans in government closely resembles the ambiguity they have presented around economic and noneconomic issues. In terms of CAFTA, Congress passed the free trade bill in the summer of 2005 by a narrow margin of 217-215 in the House and 55-45 in the Senate (H.R. 3045 Vote Summary, House.gov; Senate.gov). Contributing to the narrow margin of votes were the mixed policy differences between the parties. As found in the electorate, factions of the Democratic and Republican Parties go against the party lines in support of their constituents. Party cohesion around CAFTA is not at optimal strength since 10 Democratic Senators and 15 Democratic Representatives voted in favor of the bill (H.R. 3045 Vote Summary, House.gov; Senate.gov). Democratic Senators and Representatives voting in favor of CAFTA came from states and districts strongly reelecting President Bush in 2004, or from states and districts where high-tech industry is based, such as Washington, Oregon, and California (H.R. 3045 Vote Summary, House.gov; Senate.gov). While there is no evidence of immediate and long-term damaging repercussions towards the Democratic Party. Hennessy-Fiske (2007) notes there was a struggle and frustration felt by the Democratic leadership when a handful of Democrats voted along with Republicans. For the Republicans, this crossover was much needed as they too would have their members split against party lines.

As Democrats faced internal opposition around the issue of CAFTA, Republicans also dealt with similar divisions. Within the same vote 11 Republican Senators and 27 Republican Representatives voted against CAFTA (H.R. 3045 Vote Summary, House.gov; Senate.gov). Republican Congressmen voting against CAFTA came from either low population states such as Idaho or states in which job losses have been associated with free trade, for example Pennsylvania (H.R. 3045 Vote Summary, House.gov; Senate.gov). For this vote Republican cohesion is slightly less than their Democratic rivals. However, the behavior presented towards the public was that of unity under President Bush’s leadership, despite the 37 Republicans parting ways. Immediate and long-term repercussions have not affected Congress, yet they have impacted the behavior and image of President Bush. After the delay of passing CAFTA, Republican President Bush signed the bill as law in August 2005 (H.R. 3045 Vote Summary, House.gov; Senate.gov). Alison Mitchell of the New York Times (2001) predicted President Bush’s delayed opportunity in signing CAFTA as law when signs of opposition from both moderate Republicans and Democrats quickly rose at the beginning of his first term. Additionally Mitchell (2001) discusses the Congressional approval in allowing President Bush to negotiate free trade agreements without amendments lost popularity among Democrats and Republicans when free trade negotiations were held in private. Thus, the repercussions were felt by the Bush Administration long before the passing of CAFTA. Now that CAFTA has passed the issue amongst Republicans in government and the electorate has faded although there is a continual concern for domestic job losses. Nevertheless, other conflicting issues have risen before Democrats and Republicans including the failed attempts at passing comprehensive immigration reform.

Exposed behaviors of the parties in government have shown failure in passing a comprehensive immigration reform. Instead, what has occurred is the passing of minor bills involved with immigration reform. The Secure Fence Act of 2006, an amendment to the Illegal Immigration Reform and Immigrant Responsibility Act of 1996, increased border security construction (H.R. 6061 Vote Summary, House.gov; Senate.gov). 6 Republican Representatives and 1 Republican Senator voted against the bill (H.R. 6061 Vote Summary, House.gov; Senate.gov). Republicans voting against the bill generally represented states and districts in which there is a high Hispanic pro-immigrant population, or a state won by Senator John Kerry in the 2004 Presidential Election. For Republicans the missed opportunities in passing a comprehensive immigration reform has negatively affected President Bush. While party cohesion around comprehensive immigration reform is very high, it is not enough to fulfill the promises of President Bush. Printed in the New York Times (2004, December 29) President Bush came into office both terms with expectations of signing an immigration reform bill that would include: border security, labor protections, and a guest worker plan. Stevenson and Greenhouse (2004) detail how Congress and President Bush’s behavior around immigration reform are greatly influenced by the opposition to immigration coming from noneconomic conservative Republicans and labor protectionist Democrats. The New York Times (2004, December 29) frames the inability of President Bush in persuading Congress to pass comprehensive immigration reform, regardless of the electorate, as a “lame duck” President. In having President Bush fail at achieving such legislation the opposing Democrats in government have also gained some benefits.

Democratic Party voting on the Secure Fence Act of 2006 is not nearly as cohesive as Republican voting. 131 Democratic Representatives and 17 Democratic Senators voted against the Secure Fence of 2006 (H.R. 6061 Vote Summary, House.gov; Senate.gov). Democrats voting against the bill generally represent states and districts in which there is a high Hispanic pro-immigration population or a state won by Senator John Kerry in 2004. Reasons as to why less Democratic Party cohesion tag along with reasons to why the issue is difficult in appealing for the Democratic electorate. Shifting demographics and altering expectations of the parties has placed each party leadership at an indeterminate state. Further along, measuring policy differences around immigration reform between Democrats and Republicans is indeterminable as different factions of both parties vote against their own party lines. Clearly Democrats favor immigration reform and Republicans oppose it, except both only do so to a certain extent. In this situation the New York Times (2004, December 29) recognizes Democrats benefiting from not passing a comprehensive immigration reform since it was President Bush who publicly dealt with the repercussions in government and the electorate. In learning of the Democrats behavior in government, authors Jacob S. Hacker and Paul Pierson (2005, p. 100-103) can be referenced in describing how sometimes it is better for a party to do nothing for something to be accomplished. In this case, doing nothing has been the behavior of both parties in government. 

In wrapping up what has been discussed of both parties behavior in government. The characteristic which stands out the most is that of dismissing the minority opposition within both parties. Whether a Democratic split impacts the passing of CAFTA or Republican opposition around immigration reform is even noticed. Behavior of the government is viewed in a nationwide political party perspective rather than individual state or district representation. Thus, it explains why the parties appealing to the electorate often provide a confusing position around certain issues. Both Republican and Democratic behavior in government mirrors that of the majority electorate even though the minority electorate is also being represented. As the face of the government, it is President Bush who then accurately or inaccurately translates the actions of both parties in government for the rest of America to decide. Moving along now there will be a comprehension for what it is that each issue reveals on how both parties appeal to voters.  

What these Two Issues Tell Us About How Each Party Appeals to Voters

While the past two segments have focused on how the party presents its position on each issue before the electorate and within the government. This segment of the composition will touch base on how the issues tell us what it is that each party does in appealing to voters. 
Democratic Party Appeals to Voters
Opening again with the Democratic Party the economic issue of CAFTA demonstrates how the party attempts to optimize its supporting base by appealing to both lower socioeconomic and high socioeconomic voters concerned about free trade. Understood by Elizabeth Becker of the New York Times (2004) lower class voters favor Democrats with issues of free trade since the party has historically been associated with labor unions seeking to protect blue-collar jobs from exportation through economic globalization. Realizing the sturdy support from blue-collar Democrats the party exposes a strong but muted position for job protection in the U.S. Voters in this bloc fling to the Democrats since the Republicans choose to focus on other aspects of free trade. Democrats poise themselves as supporters of the people and against big corporate profits. On the other hand, Democrats also appeal to upper class voters on issues of free trade by including topics of environmental protections and expansion of high-tech industries (Democratic Party Platform 2004, Democrats.org). Democratic Party leadership uses these positions in hopes of attracting large groups of environmentalist voters who cannot find sanctuary under Republican policies. While the efforts of appealing to voters is blatantly in support of American workers. Democrat voters have a “hard” time in supporting the party as it causes internal conflicts between loyal blue-collar Democrats and the elite high tech and economically conservative Democrats. Still, this issue does not present the same conflicts as others do including immigration reform.

The Democratic Party attempts to optimize its supporting base by appealing to both Hispanic pro-immigration voters as well as pro-labor protectionist voters. As mentioned earlier by Dionne Jr. (2007) Hispanic Democratic voters are growing in number as the party overtly embraces comprehensive immigration reform. Such actions taken by the party have caught the attention of Steven and Greenhouse (2004) who have not been the only ones noticing the wariness of pro-labor Democratic voters witnessing their party shift its overt support for pro-immigration reform. Democrat voters find difficulty in the ways the party has appealed to them as both Hispanics and white blue-collar voters support different positions. This difficulty for the Democrats illustrated by immigration reform and CAFTA also has an influence in how Republicans appeal to their voters.

Republican Party Appeals to Voters
In discussing CAFTA the issue shows how the Republican Party maintains the message of pursing free trade as it specifically appeals to both business interest groups and the elite. While in the same moment it fails to attract any new low socioeconomic voter. Andrews (2005) highlights how the Republican Party promotes free trade to specific business oriented Republicans who seek trade deregulation in hopes reaping the benefits. This has been the main orientation for the Republican Party as lower socioeconomic voters do not have a strong position or interest in free trade and CAFTA. What this issue demonstrates is how the Republican Party can easily tilt their priorities for one voting bloc on any specific issue. With this ability in doing so the party finds it “easy” in appealing to voters on any issue that relates with free trade of CAFTA. However, this ease felt by Republicans on economic issues is not the same with the noneconomic issue of immigration reform.

The Republican Party has dramatically shifted its open support of a guest worker/immigration reform favored by business interest, to that of border security which is attracting many conservative voters. David Brooks of the New York Times (2007) gives the opinion that conservative and lower socioeconomic voters are attracted more to border security and anti-immigrant sentiment as expressed by members of the Republican Party. This sentiment expressed by party members causes an internal rift in which Thomas L. Friedman of the New York Times (2006) believes moderate and business Republicans are dropping support for President Bush who has not been able to mend the differences. The internal divisions between Republicans makes the issue “hard” for voters and party members as different segments of the party base support and oppose pro-immigration reform. While economics comes easily for Republicans, the issue of immigration reform will continue to be difficult for their voters.

Both Republicans and Democrats use the issues to alter their appeasement towards different voting blocs. In terms of CAFTA, Democrats present themselves as supportive of free trade to aim at the large core of voters. While at the same moment they cater to a specific anti-free trade Democratic voting bloc. Republicans on the other hand know the issue is generally accepted by the voting bloc and any opposition to it is kept quiet under powerful business interest groups. Switching to immigration reform, Democrats have stalled the push for immigration reform as the electorate is shifting their views around the issue. Republicans also have halted their appeal to voters as an internal rift is dividing the party on this issue. Most importantly, what can be said from this segment of the composition is that both Democrats and Republicans know how to work the issue before the voters. They have the skills and knowledge in targeting specific groups as well as maneuvering their agenda. Touching on this topic the next segment of this composition will conclude what has been examined along with a personal reflection. 

Conclusion

As this composition comes to an end the underlying message behind the behavior of political parties becomes apparent. Political parties of the United States divide the American people as they specifically cater a certain position to one group and then present a different position on the same issue to another group of voters. What is occurring is the segmentation of voters in often blind and opposing positions. While this has been occurring for some time now, progression of such conduct by the parties has exponentially increased over the past few years. Whether the increase in segregation is better for the individual or harmful for all, it can be said that the level of frustration in response to such conduct is increasing. However, in figuring out whether or not the American people are taking action into their own hands or disconnecting themselves from politics, only time will tell. For now, what can be said is that one must be wary of political parties since their actual agenda may not coincide with what one believes in. Until then, few or no changes can be expected to occur in how political parties communicate the issues with the American people.
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